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(€©) 0to10

T_heo'reticaﬂy net reproduction rate can range from
(296”0 to 1

(B) 0to5

(D) 0to 1000

(E) Answer not known

'ﬁ&u @aﬂaﬁl@g,gﬁl aﬁ]@uﬁl@‘r CTEOMDVSATTELET

(A  Ose 1
. B)  Oqpge 5 _
© 0qse 10

D) Oqpser 1000
- (B) o Gsflueidame

There were 15, 000 persons living in a village during a period and the num’ber.of

persons dead during the same-period was 98. Then the crude Death Rate of the
- village is

(A) 7.65 persons =

| (B 6 persons

(GVG.SS persons

(D) 6.46 persons -

(E) Answer no.t known

@@ EHIIALL 5rrsug,;f,!eo (1 é]g)gmrﬂso GUTLPS Lo&&er 6T Grsmmvﬂassma 15,000. =G asrrmg,gf,]su.
- sieugyifles Qmpseursdr arairenilEans 98 erafiey Sjeuapmen Qatiuafl_m @muq cillBLoTEns)

(A) - 7.65Gui
B) 6Cui
© 653Cut

@) 6.46Gui

(E) aflen Qgsi‘ﬁ uJaS]sb;sﬁ)aJ

. =  CSSTI2022
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— 8~ 1hp vélué of NRR <1 i_s. indicative of
(A) increasein population '
V reduction in pﬁpﬁlatib'n

(C). - constancy in population

(D) generai in population

- (E) Answer not known

N.R. R <1 -am Lngluq eTrafled .@qmméuq &rLLq.GSITL@GLIé] srgj -.
(A) &5 @g,rr@ms @u@as&m :
B) wssdr Qsres G@DSH -
(C) fHoeowrar mésa%sﬁ Qsrens
D) Gu rrg,;éﬁrrsﬁmésea& Qgrens

(B) s Osfueioame

K Regi'stration of vital statistics is organised at the apex by

(A) Director General

W Re glstrar General

(C) Census Commissioner
- (D) Enumerator

(E) Answer not known .
Qpliy @i udlesamer @@rﬁ;ﬁmmﬁu;ﬂd} 2 Fshlencoulle 2 eirameuit
(A) soomn QuUEEHT .
(B) g,m@i)'smmlj uslsurraﬁr'r
© m&&m@g,nemas aamra;@as@uq <}, G EHTILIT

(D) aﬁ]ugmassmm G&F&;rﬂuu@m

(E) ofen G]g,lﬂu_laﬂaumez} :
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5.  Total Fertility rate is

o

_(c) |

(E)

Answer not known

Qurés pliy eIg ereig)

@

©

(E)

cflent_ Qgrﬂ.u_laglsbma)

B)

(D)

(B)

)

A B
ARV,
Ap fo

L

A 4

6. Given the total of age spemﬁc fertlllty rate per thousand with the age interval of 5
years is 214.15. Flnd Total Fertility rate

Y

®

1000
1050.75

o 1070.75

D)

'(_E)

1100.75

Answer not kndw'n

| 38 m@pg,ﬂmm ey @m;@sua‘ﬂu_lrrésa; Qg mesrL_ sumg,j PGS @Lf)]ulﬁli_l_ ﬁ];m_n_; Gﬁgygﬁaﬁ
Quongs iy 214.15 araflé G]LDrrg)g) Gmiy eﬁg,gjﬁm mﬁuu : :

®
®)

©
®)

- (B)

1000
1050.75
1070.?5
1100.75

elenL Gg,lﬂu_!aﬁ]sbsmm

- CSST/2022
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v .Standa_rdiséd death rates are particularly useful for
| @A) C.dmparing the death r.ates in males and females
V _Coﬁlparing the death rﬁtes of two. regions |
(C)  Both(A)and (B)
(D)  Neither (4) Nor (B)

(E) Answer not known

S AL G e e b i DY,
(A)  eyamser wpmib Quairseller Gouiy esg,gmg, UL |
(B)  @ren® wein_snsEsHo Cuuna @piy dssos GUdL

© @ uoppn B Graee

@) (@A) vogd (B) @ran@ib Qéme

E) ol Qsfluicieeme |

B, . Purchasing Power of money is measured by
- (A) '. chain basé index number
(B)  wholesale price index number
(®)) - fixed base index number

'\V cost of living index number

(E) Ans_wer not known
L Aen gunrgj@m Bipen ieeSE Qaiiib GHSLH ereir
B)  shdas Qami @GPl Qe |
B) Qurss e OIS QLan .
(Cj Heveowimer é"»‘uﬁ_uu.eml_ GO QL
D) e Braa G0, on
@) e GRS |

CSST/2022 - 6



9.  Laspeyre’s index number is also known as

()

®)

Fixed Base Index Number

Given Year method Index Number

V Basé Year method Index Number
(D)  Unit Index Number

(E)

- Answer not known

 eoravl 9w @gf]uﬁLQLaimmsm Gogyitb @)eueummy &ié&kgéﬂiilu@ﬁﬁ)é]

A

- ®
©
(D)
®)

ﬂe.;mamrrsdr Sl LILIGL @D Qi
BL_LiL] ,:cgipm@ @@uél;@r_sén'r
gmruum_ 2 6(® GO G i
SI0@E GO CLer. .

aflenL Glgflwelildeane

10.. Most preferred type of average for Index Numbers is

[

(B

Arithmetic Mean T
Weighted Arithmetic Mean

~ Xg#” Geometric Mean

)

()

Harmonic Mean

Answer not known

@S QL amseen Hioraflsseld Waad 6fmbLs sigw srraf cums

@A)

B)
(©)

al

(®

g () gyma

Blenpui L ami_@ g
QursEE &Uﬁ&ﬁl
@wr’r@mn&oﬂ& synafl
aflepi_ G]_g,ﬁ]maﬁ]ébsm@ |
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11. A good index number is one that satisfies

Mime reversal test

(B) factorreversal test
(C) circular test
(D) allof these

(E) Answer not known.

S Bnhs @;,&us'g@ araim flauss) Qe Caugmdaar
A)  smwrpy Gergmen ’

B)  sryafl wrpy Cergmar

© G]un(nj.ei'raasi'r Sty @gngm{ -

O @oaswaiss

(E) e Qsflueficraney

12.  The best average used in the construction of index numbers is

(A)  Median
| W.Geométrlc Mean
(©) Mode

(D) Arithmetic Mean

(E) . Answer not known

& St QL amsavar seméd Gib @pevpsetied uue&ru@gg,uﬁ@m sme& Smhs STETLTS)

@) . @mpﬂm
(B) Qumésssymafl
© w6

D) &l @&sgrad
E) oL Osfluedome
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13.

- 14,

The method of least squares was int.roduced by

(A)  Karl Pearson

-@/ R.A. Fisher

@&y Puo. Mahalanobis_ .
(D) C.R. Rao

(E) Answer not known

Lﬁ&éﬁgﬂ QUTES (LPEDEDILI é!@(g)asuu@ggﬁma.lrr .
(A amme |_‘1'Iu_|rr&aw

® - wyig.Geyi

© 9.8 Guswamid

D) Ay gre |

(B) T

The n'ormal equations to calculate the unknown constants for fitting the straight line -
y=a+bx are, : ' - :

A) zY =a+bZX; BXY = aEX+bZX2

(B) .-zY=Wa-+bZX2; zXY=azX_2+_bz:X
(©)  EY=Na+biX; ZY? =a3X +brX?
D IY=Na+b3X; IXY =aiX +biX?

(E) Answer not known

Y= a+bx GTEOID. G;r;rr@s;rr@ Gun@g@geﬁ]m ‘o@ LD[DQJLD b Beupeops stam o geyb @u_:a)

FoaTUT(H&ET TS| _ : :

'(A) Y =a +b2X; EXY = aZX+bZX2
(B) IY=Wa+ bZX2 >XY =a3xX? + bEX
(©) _EY:Na.-+ bz}g; £Y? =a5X + b3X”

(D) IY=Na+biX; ZXY =aIX +biX>

(E) eflenL WgMweildena

i ' ~ CSST/2022
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_15. The correlation coeff_icieht between two variables X and Y 1s r= 0.6.1f o, = 1..5,
- 0,=20, X =10 and Y = 20, the regression line of X on Yis
(A) Y=08X+12 ' " (B) X=08Y+12
W F=uya. D) X+Y=1

(E) Answer not known

X, err;ﬁ]as@a;aﬂm_@u_uurrw 2 e Qgm iy Qe r= 0 6, o,=15, o, —2 0, X-10,
Y =20 crafled Y -eu LSg,rrsnT X -aor 2 L e @g,m_rrq CunsE Ga;rn_rraﬂgj e
A Y=08X+12 : . (B) X=08Y+12

{0 X-845Y+1 \ = Dy X+¥=1

@ B Codidicioms e | '

16, If the two lines of régreSsion are perpendicular to each other then T =
@) 05 _ &t ol ' m
ek o e D) +1
(E) Answer not known"
@yain® oL Qzmii s Can(edr gamétsram Qeki@ssrame aafle 7, -ar iy
W ® 0
(C) +0.5 _ S h D) =1
(E) &leor Qsflueioeme : e

17. The coefﬁ01ent of varlatmn and . standard deviation of a series are 58 and 212
; _respectlvely, the mean of the series is -

0 908 i (B) 26.6

O et ' \@r%.ﬁ

(E) ~ Answer not known

e elleurs Qam_fer wrmum Hié Gla’.@ wHDId S efloseid @;pcmg)(Bu_l 58 Lngprcmu:) 21. 2 sr-afﬂeu'

2i5Egm_Men syme
(A) 306 | (B) 26.6
© 364 5 - (D) 36.6

(E) oL Qafueiaocme

. CSST/2022 T | 10 A -' - o



18.

| B o1
” o

If @, = 30, @, =20 and _Medién = 25, then BoWley’s co-efficient of skewness 1s

@ 1

i _
(E) -~ Answer not know'n'

Q; = 30 Ql 20 mmgm @Gml_ﬁ,]smen 25 Greuﬂeo Qumaﬁ]u&]aﬂ C?a;rrl_l_as Q&@Gﬂnm@

@ 1
c
LD
o

198.

(E) dflen Qs @@5]6'066)60

In positively skewed distribution the relationship betw_éen mean, median and_mode
.(A) - mean = median = mode
| (B) median > mean > Iﬁodé
. mean< median < mode

M mean > median > mode

(E) . Answer not known

@@ Gg_r;rrman,m G&BITL_L.,LJ ur;sueﬂm syma, @GBL@GDGD LHmILD &6 (%ﬂmeug)@g)@ @mu(&w

o drar Qsm_iy _
A)  spnef = Gani_Have = p5

B) QL Heew> aynefl > s
(©)  syrefl < Qe Hleve < Wws®
@)  sprel> QoL o> s "

(B oL Gsfludiomes

11 | | CSST/2022
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20.

Bl .-

22.

A given data has Mean = 6.5; Median = 6.3 and Mode = 5.4. It repre..sents

(A) - leptokartic distribution = s.ymmetrical di'st._ributio-.n

(C) negatively skewed distributibn 'Mositively skewed .diSfribution .

(E) © Answer not known e . ' o '
Qsn@ésiLL L sfuphsedr syref = 6.5, GaLflow = 63, (ps@ = 5.4 e @semens
ehliug et

(A) . E®DESL_ML LIFeued . - (B) &memugeud

(©€) adlioanp ComlL siamamenien ugeud (D) Criwenn CarlL siereneuufen Ligaie

(E) o v @g,rﬂ u_léﬁlehemev _

The quartile deviafion_ includes fhe

(&) first50% NG middle 50%
©) last50% @) last25%
(E)  Answer not known |

areLoren eflessd 2 arerLsdwg,

(4)  @se 50 sgelldlg ' (B) eww 50 &g,sﬁ]@g,l.b' _

(©) s 50 &g,aﬁ]_é]g_Lb ; D) soL8 o5 F5604lH1b
B oo Asfucdome | |

- For comparison of two different groups, the best measure of dispersion is

(A) Range : ; (B) Mean deviation
(C) Standard deviation Mcne of these -
(E)  Answer not known ' -

BrGay ey (i) sma ldGasHE b Asparea ApLiLnmsied

A) &iss ; (B) sgmefl elevssbd
(C) | gL flewssd _ D) @G}ngﬁ]a} eTgleyLSlevenen
(E) eflenr Gsflweldeane

CSST/2022 S 12 | e



25

24.

In which of the following chagrams the heights of the bars are proportlonal to the
magnitude of the total frequency?

@A)
B)

(©

Slmple_bar diagram
Percentage bar diagram

Multiple bar diagram

W Sub-divided bar dlagram

ﬁlmm@m GT'F_I')‘&“) ellemdaliu Sdled LI anLsarfle &u_ll]'I'E.IEEGIT ﬁ&gp@mswa;aﬂm @Lorrg,g, Fa.(H&60

(E) Answer not known
jereEE oldswns B msSannen?

(A)  eeflw L el eferEsiuLib .

B Awssnh U oL eferssiiuLb
(C) _ulc.;'o ;g[ré:asﬁz LJ:;mL_.@S]arrésasugl_:b_ :
(D) - spuleL elleTdsLILLLD |
® e Asfucoms

Statistics may be defined as the Science of collection, presentatlon “analysis and

(A)
®)

_ mterpertatlon of numerical data stated by

Bowl-ey, AL
Kendall

Secrist .

M Croxton and Cowden

(E)

Answer not known

Leretlufwied. eTETLIG) elleurrhisener :fmgﬂaﬁu_lso wieunns Gramssew, eleurhisamer ailgse,

cfglpu_la.} QIS LOHMID (1Plg CUSEET Fa IS~ sremm aamgﬁ]marr em@u_la_rrr

(&)

B

(€)

(D)
(B)

Gluemedl, A.L.
G]a;aim_rr;b
QesmevL _

Syréevr e Lngbguﬁb QlaeTL e

eflenL Qg,rﬂusﬁ]ebsmso

13
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95. A coin is tossed until a head appears. The expected number of tosses required is
=g ey \M 2 | | -
ey g | D) 4
'.(E) A,nswer not known : .

6( . [BIETWILD g,smeu eﬂsml_a;@m auezm;f &'rstsu'n_uu@eﬁmgj Grasﬂsu a;swﬂg,aﬁ!meu Grg;%]rrurmuq_
apenmullcd’ srgsg;smem e saLuL. Caler(Hib?

Ay il o : - ® '2
-5 — e
(E) o oflenL QsRweldens

26. Find the méthematical expectation of the sum of the points on n dice

e o : - = n
o 2 ! g

6 _ s E

" (E) Answer not known ' :
‘n’ aameflswms QarewrL. usemLude = erar yareflaeflean gl (B @gnma;ufﬂéh sEmEALG

erdlitunmilenen &mers. : : :

1n : n

o o
(©) E"; L = e (D) on

6 : _ 2
() efle Qg,rﬂ maﬁlsbmsv . :

al.  An unblased coin is tossed three times. What is the expected value of the number of

heads? .
(A) 1.25 e \ﬁf 1.50 -
LEshoamsEae T e e L

_(E) Answer not .known.

@@ GppERupn (r_r;rrsmu_lm ppem) (gam{_r) &,mn_uu@\éﬂmgj c9|,éj]sv HEGV mﬂ@sug,maarrsm_
sr‘g‘;lrrr_lrrrr&,@m GILIL] eTemLig)

B v ' B
© 175 e D) 1.00
(E) aflenL_ @g,iﬂ u_laﬁleoemm =

- essemezs . - 14 * A



28.  (Hven the joint p Jm. f PX y {x, ), the condltlonal p m.f. of Y given X x 18 glven by

the relatlon

' (C_) Pfo(y/x)=M i : '_ D) nyx(y/ x)= Py y (x, 5)

Py (x) B O (x)

- ()  Answer not knoff_vn

G}mn(aé;aﬁupl;@mm G)enemr (rﬂ&@g,a;@.] QuimmeiTenLo &rrr‘r‘u-sosh Py y(x, y), oigan X -GU}U_I.I

s Y -ullen Bupseamer fapssa; QurmeaTens Fmieeaer Glg,'rrL;frurfsngj.

i e
@ BRI (®) PY;x(J’/x)~ PX(("))
X : % v |
C P, = Y(y) o D) P _PXY(x y) ]
©  BubP=py o) m(y/ me Xl

- (E) e Qsflusiome =

29. : (i, 1)th moment of the Bivariate distribution is call-ed
@ vVaxy =
(B) Var (X) Var (Y)
W el v
(D) . Correlation between (X, Y)

(E) Answer not known

(1, Der Hooy Sper 14, Ger QU LrasTag
- @ (&, b i
B X o wigid ¥ én wigun®
- (©) (X, Y)én Genewt wrmunp |
D) (X Vg Goey
_ (E) sfﬂem@ Qs Mweldrens

a0 - ' - " CSST/2022
: : : o [Turn over



30. Four persons are chosen at random from a group containing 3 men, 2 women and :
4 chaldren. Fmd that the chance that exactly two of them will be children.

‘(10_ -

921 . T

0 | oy

Lk : ' L2
(E)  Answer not known |
@ Gpeda 3 gLanser, 2 Cuamsar O 4 @GphensedT o atetar, 2ifdlmbal 4 - PTG
goeumiciy  @enuie Cgiay @&mum@un@@ - aeurraaaﬂeo @@am @%erbsmg,&émn&' _
@@uugyﬂ)aarr@'r auridienL aaem@ﬁlq '

10 -"-.-11

g e
(©) e e (D)_l_?_

21 : : 21
(B) aﬁ]mL Qs flwelerana ' .

31 If events are not mutually exclusive, then the addition theorem of probabﬂlty 1S

giveg by :
\( P(Aor B)=P(A)+P(B)-P(A and B)

(B) P(Aor By=P(A)+P(B)
(C) P(Aor B)=P(A)*P(B)

D) P(.A-or B):-;—[P(A)+P(B)] :
(E) Answer not known

@rﬁj@ rr%]eaal(.,pa.4essc;rr @mmp@mnm@ eﬁ]euasaan ﬁ&g&@&m GFGUﬂGU SIS 60T ﬂasggg,a;aﬁlarr gl L6
Cahporeans)
: @) P(A soog B)_:P(A)+P(B)—P(A wpmis B)
(B) P(A =iéag B)=P(A)+P(B) '
(©) P(A si@ag B)=P(A)+P(B)
D PA sowes B)=-.;¥[P (A)+P(B)]

(B) eler Ggflueiidame

CSST/2022 i _ 16 - n



v gy

9

@

@

I P.(AuB):%; p(A):%_and P(Am_B_)_z—g— hoti Per) i
g et
~05 -

S

©)

o | W

v '-c.n[n.—l. :

(E) Answer not known
; St Far ; 2 S R

P(AUB)=15; P(4)=2 wppi> P(ANB) = el P(B)=?
(B)

© D)

T ot
s oo

(E) oo QsfMweldeme

If A and B are mutually e};:cl.usive events, then_ P(A or B)=P.(A)+P(B). How does
the calculation of P(A or B) changeif A and B are not mutually exclusive?

Vf) P(AB) must be subtracted from P(4)+ P (B)
(B) [P(A)+P(B)] must be multiplied by P(AB)
(€ PUAB)wiustbe nddei to BLAYLPIB)
@)  [P(A)+P(B)] must be divided by P(AB)
. AnsWer not kﬁoWn |
T bonis B G M Bt Qs PA sidws B=PA)+PB) aaé
P4 siag Blow alug, sarsdlQag, 4 wppid B gawp gem elese ﬂ&g&@amnas

SO UL 556 ? _
(8)  P(A)+P(B) wpin P(AB)siss Gasin®id

C(B)  [P(A)+ P(B)] ow P(AB) sy Qi Casgnid

© -P(A)+P(B)'u4ua P(AB) oowi sal’_ Ceuaii (b

: (D)_ [P(A)+P(B)] eu P(AB) A QUEES @eum@,m

(E) eﬁ]szm_ Qg,rﬂu_laﬁlsnmsu

i st - CSST/2022
: : [Turn over



34.

'35,

(©

If A and B are two independent events w11:h "P(A)= 07 P(B)M'K and
P(AUB)- .8, then the value ofK 1s
-~

o

(A)

3|l =a|wn
~3|= =~a{bo

(©

(E) Anéwer not known

: A LDg)guLn B %eﬂmmeu @wm@ &rrrrug;g) ﬁasgg&eﬂa;m LD£DQ|LDP(A) 07 P(B) K

P(AUB)=038 Greoﬂa) K én wélliumeng)
&) ®)

© )

=tw <o
~J]m= =3|bo

- (BE) &l Qaflweldvena

A problem in Statistics is given to five students A, B, £, D and E. Their chances of |

solving it are %, %, -}I, %_and -1— If .all of them try independently then the
probability of solving the problem is
' 1 - g o
= By
. ( ) 5 (._) 6
= 4 5
© = v 2

(E) Answer not known

Lje'rre_rﬂuﬁ]u_leﬂciﬂ @@ sané@ 5 wremeuisdr A, B, C, D Log')ng Ess G&n@é&-ﬁﬁ@@gp@.
= = s 7 : i s oa U IRE g S G

SIQUTEET SIS sflwng sensdl Hlapsseaser wpeanGuw 53 T LOMHMILD ~ DIGUTHET.

. FmuHo Qpemg)ufﬂev ,§,|Ta.| ST ﬂ&%pg&im mﬁuq

@ ®

D)

S o=
oot o

E) oL Osfudioma

CSST/2022 = g . on



36,

37.

- The Standard Error of Sémple Variance (S?) is
'”(A)"I_",:- e = = o”
«/; - Von =
2 2
o3 E S 2 |2
1’ _ {a _ﬂn

Answer not known

' Lnrrglrﬂ LD[TQ]I_IFI'I_Lq_@lGﬁ')I_UJ (S?) @L_I_L_IIE@)L:Q Gremu@

(A): (B

@lé'

S

AW o i ®) az\f
: " Ny = i

® oL Osfusioms

The standard error of sample mean is

@A o’
2’ :

o

B -

V_ o
i

D) e

(E) | Answer not knoi&n

g él_jﬁ&fﬂ Ll.]G:DLU_.l AL Qenwp ereiig)

@ o
®) JT:;
o =

(B) Ao Qpfweideme

- 19

e

- CSST/2022
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38. If X is dlstrlbuted as normal w1th mean 12 and standard deviation 4 then
P(4<X 412) is - :

(B) 0.9544
(C) 0.6827
D) 0.9973

(E) Answer not known

X aam Lorrgf)]uﬁlaﬂ sgrafl 12 whHmw éll_l_eﬁleos;asm 4  ueTueTEUGMETE CSTERTL 6(1F -
@mm;ﬁ!ma} upeued erafled, P(4<X <12) e gl '

(&) 04772
" (B) 09544
(©) 06827

O) 0.9973

E) Ao Qsfluciaaman

39. The square. of a standard normal Var1ate is known as a chi- -square Varlate with
degrees of freedom.

| (A) n

n-— 1
\39’1
o =

(E) AnsWer noﬁ known

S @ma}gﬂma) wirluSles aii&ssHlan amseiéss omdl  ere am;pasasuu@m Gungl, =g
asl_Lq_GoTaf)LD aTeTanflEmeenw Ga;rrm‘rl_g,rr@m

A n
(B) n—1
©
: mn
.(D) 7

(E) elenc Gg,ﬁlwaﬁlsbma)

CSST/2022 | aa e ; P n




40. Ifthe expectafi’on of a Poisson variable is 1 then P(X <1) -_is-'

o e _ B 1-2¢*

2 : : 5 -1 . i .. 2

(9 I—Ee_ - | (D) 1-5e¢
(E) = Answer not known -

e Lnisren wrflian semsduc ey 1 aafld P (X <1)-er ooy
e o s Ea

(©) L D) 1-5e™

(E) alenL Qs usﬁ]éo_emu :

41. An unblased coin is tossed contlnuously untll a head appears The probability of
gettlng first head at the 10t toss is’ :

(B)

512
: S e
.
.

- (E) Answer not kndwn

P(H &g)gp&eﬂu_[g)g) BTERTILILD Q‘e_r,rn_rr‘r_r)g; sana efl(pLd euany &Gwn_uu@di]mgj ugsgrreugj aasm@gsu
g,sml_@ugu EUTIPE (P& BN aﬂ@mg;g)aarreﬂ Blapsse] G:TGUTL_IQ] :

(A_) 10124_
® 5
"o 5—%

tE) ellanL @g;lﬂu_leﬁlsu@mm 2

5o | e s ~ CSST/2022
; £ ' : : [Turn over



4. ii o ihe cumulants. of Binomial dlstrlbutlon is .
Wlog(qwe)” |
B Iog(q ne)
(©  loglg+pe)”
© loglg-pey"
B - Answer not k-nowﬁ"
W@@Q’Q:uﬁmeﬁlsﬁr GaleyeL i iy u.m@;?
@ log(g+pe’)"
®  logg-pe)
(©) log(g+pe)™
® loglg-pe)"
(B)  efleor @gﬁrﬂu.aﬁl.ehmsu

43. " The mean of a b1n0m1al dlstrlbutlon is 20 and the number of trials is 60, then
probability of success of an event is

A 0.25
v 0.33
© 0.50
(D) 0.90

(E) Answer not known

_ @rr FEEBOICILC ui;ra.:aﬂecrr Fyme 20 @u_lg)ﬁasaﬂem Gremmﬂasems 60 eraflev, em ﬁ]&@&é‘luﬁl@ﬂ

Qeummlullen ﬁas%pg,a;m
(A) . 0.25
® o033
© 050
M) 0.90

) aﬂsml_'(;]g,iﬂd_l_éﬁlebmeu



44,

In the 2" factorial _experiment, the total number of factorial effects is,
i n i St

(E) . Answer not knoWn

2" srreslsemerns s HULanwoli9é Qorés smrenseflan efamerasaflen cranafsma

@ n
-0
o
@ o1

U e GoRuilaae

© 45,

The error degree of freedom for mxm LSD with one rmssmg observatlon

@ (m-D(m-2)

' '_(E)  Answer not kﬁoWn

@@ el L m,e‘,lué]cmmas Gtarrewn_ mxm Gug;‘gf;an 58I1& ‘é,]I_L..g)ﬁGD iﬁlsm%pa;aﬂm &I_[q.GISTGE)LD '_
&y&sﬁlw canemilsens : &

' (A) (m—l)(m.—Z)

® (m?-1)-1
®  (n-1)

(E) oo @g_ﬁrﬂ wellevaney

- . (CSST2022
e : [Turn over i



46.  The missing values 1n Lat:in Square design can be estimated by
' ' m(R+C+T)-28 |

@ a=l
: (m+1)(m+2)
:'_(-B_) JE_'m(R—C—T)—2S_
T (meDm-9)

-  m(R4C+T)-28
\y T (m-D(m-2)
MB O Tinsh
(m-1)(m-2)

=
Il

1l

(D) x
-'(E)" Anvwer not kilown

- wsSen &gjr,f @qm_emw_ulﬁlsb smewrmoey Crimen Le‘é,]ilqaaaﬁ_)@rr wdHUAHeug

m(R+C+T)-28

G (m+1)(m+2)
® ﬁzm;(R—C—T)—-ZS'
- (m-1(m-2)
© .ﬁ;m(R+C%T)—'2S.
i’  (m-D(m-2)
) -f_m_(R+C+'T)+2S -
v el

(E) oL Gsfueidma

- AT Ina randomlsed block desagn with 5 treatments and 6 blocks the degrees of freedom
for F-ratio for treatment 18 : '

w0 B e
© 620 D 429
(B ; Answer not'k'now;;_ i
. 5 Cargenen G]urr@'_as'eh wHyb 6 AsnEded Garar @ swamiuyé s HSHL @errg,meof iz
ianiolidlen Gemgaen @urr([r)ran F ef8lggglen sl 1qenantn g GTGOTENT ?
@ 4,200 ' O s 5, 0)
©) (6,20 = D) (429
: (E) eflen Qs fwielldamea .

cssTo2z - e g - o



48,

49.

In a Latin square design, the number of rows, columns and treatments are .

Q) different

B '_.-need not be different

W equal

o) ..n0_1.: necessarily equ_al =

(E)_' Anster not knewn =

Gug;ﬁ,arr ggl7 S ammutﬁ?m ‘rf)]ursu ﬂsml;r Lng)gum (Berrg,smem @urr@m %aﬂu_lsug),rfﬂem
ﬂammﬂam)eau_rrrm@ : :

(A) R

(B) _mr'rgu;;i__g,m;; @@éaa; G@@ﬁqm@@@m : |

(_C) FOTGD - ]
‘(D)  swwrs .@@.ﬁ;e; Geueiria u .:vxpejéluJLﬁiéJsme

(E) oferr Qsflweddrenad

_ There are more chances of non- samphng errors than samphng error in case of

. (A)  studies of large samples
(B) : complej:e-enumeratl_en. '

(C)  inefficient investigators

 \@¥7 all the above -

(E) Ans_wer _not known

Lnrrﬁrﬂ ameung, LSTGH)iEpU_IITGU[@ &l ﬁ]smkpsmu.leﬁlp 9@15 eUMLIL| 2 éTemg) @g,@mreu
(A G]u@rmamﬁlsm utq,uqa;err Sl |
(B) _@@emmurrm e;ema;@a;@_uq

©)  Hoer aipp efsmyanenr

D) Cule mpuulL simearssid

(B e Aslusidme

» . . CSST/2022
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50. The students in a College are awarded grades A, B and C. For estimating the
average 1Q of the college students Whlch samphng method will pr0v1de good
estimate of average IQ : : -

_ (A)_ Cluster samplmg
(B) Simple i'and'onll sampling
W Stratified samphng
(D) Systematlc samphng
_(E).' Answer not known
. @m soanuder mrrammf?as&A,- B whmn C erem sy _G).liﬂ.Gb')a: aupmisLuSprisdr, sognfl
. wremeuiselien maman el Flow sarHlu. syrefl paTarlelharer poa wHOS L ahs
@0DBEED WP ST | ' |
(@) Soerordfl gpaop |
® el iy mOp@sse
© LGsmOpOEED
D e mAphEsd
(E) hﬁlem.@g,rﬂu.mﬁ]éosmo .

51.  Circular systematic sampling is used when
‘(A)' N 'is a multiple of » Sy :
. Nis awhole number vEo -

M N isnot divisible by n
(D) N is divisible by n i
(E) Answer not knpwn :
qﬁ@uﬂ@@ QUL (P gl (pep uu@fuﬁ,\gg,uu@é]mgj
(A) | N arénLigy n én @Lj@é;aseb @g,rrema;mrra; @@pg)rrsn .
B) N (Lp@ GTGMTGMTH’&E. @@;ﬁg,rr@l)
(C) N erénug nen <6 G)_I@UI_ITLDGD @ HHSTe

(D) N erénLig) n =246 eiEUELID G@EESTE
B)  ofeo Qpflucidme

CSST/2022 L g e
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- 83.

Probablhty of drawmg a umt at each selection remains same in

@A) SRSWOR

\gaf SRSWR

(C) Both (A) and (B)
‘(D) Cluster sampling
(E)  Answer not known '

. &) @g,rr@éhﬁ]@ymm 2 MILIL&ET @!Gmsmg)éim@m &Laeurruuqasaﬂem éqmrul_lcm_uﬁlen ﬁ@mu g@gy

eremantlSensudia CaiibOsHEED apen
(4) Lorrg)ﬁ@ @susurrg) erarfls FLoaImILiL LDrr;;F;]ﬂ

2y 'LDrrngllL_GHT emqu.n erafliLl swaumiiLiy omdll

O ) wppid B) @ren@id

D)  Cangg sApOszD
(E) e Qsfuciame

“If population size is not a mu1t1ple of sample size, then sample mean is not an

- unbiased estimate of the population mean”.

- For which samphng the above statement 1s true‘?

(A) Cluster samphng
- (B) Simple random sampling

W Systematlc samphng
(D) Stratlﬁed sampling
(E) L 'Answe.r not known

_ @Gmm Qgrr@g‘,]uﬁism SIETEY Saf) SjeTeller CumssaTs @wmw@waﬂw &—SLQ] &gn&rﬂ [CCLEE
ngn@ﬁuﬁlw &rjrr&rﬂas@ Gpipéé u_|g)g) oL TMTR I 5 @@&.&r@” _ :
Cuopésam_ gnm Grgg, UIBNEWITEDT m@g)@g,g,@e;@ GlLDu_J mnemg,wa; @@a;@m’? :
(A) ._é,ll;rmmrrglrﬂ @smgg . o
(B) &rrgrr;rm eumiiiLy wrd rﬂ@cmm

- (C) PWPEEG Lor@rﬂ@?oemm

D) - UBes _LDerrﬂ@mg)
)  oSer Qsfisefirene
S oaa e _ CSST/2022
' ' ' [Turn over.



54. If each and every unit of a populétion has equal-phance Qf being _included in the -
sample, it is known as : '
(A) restricted sarhpling '
(B)  purposive sampling.
(C) éubj_ective sampling

W unrestricted sampling

(E) Answer not known

(LPPEILDS G]g,rr(ggluﬁlm @m@raurr@ &m@&@m mn@rﬂuﬁ]so G&rrmg;ﬁ)@ glowomer  eUTiILILY
febeme. 28 | - |
@A) GIJGH)UU_IQl&éJSUI_II_L_LDﬁ‘é]lﬁ&GTT
(B)_ Gg,rras@jm FNTUSE Safmle]
©  sfion i Caiey
.(D)_. : té;L'_@t:urrl;,r_iJ‘r_rj mﬁﬁrﬂ.ﬁm
EB) e Asfuicideme

55. SAS creatés charactér variables with a l-engfh of — e bytes for list output. -
@ 6 e | |
W’ 8
I(C) : 10.
D) 12

(E Answer not known-

SAS Gmm@un@aﬂm Gicauaﬂuﬁ@ us_Lq.u_leﬁleD o GiTeT LiemTL mﬁgﬁl&aﬂw E@rru)

66)LII..®6§61T
@) 6
® 8
oW
_(D) 19

(B aﬂcm;._@gpﬁ]ujaﬂsﬁmm

| CSST/2022 St Tiia ' Ui ' ' o



56. If SAS cannof interpret 'syn:tax enfbrs, then

(A) dataset variables Will con_téin missing values

| (B)_ the DATA step does not compile .

W the DATA step still compiles buit it.'d_oe_s not exéc_ﬁte : |
_ D) the 'DATA step still compiles and execute
(E) Answer not known . :

' Qgﬁr_rﬂu-_rsb.lﬁlsmgga;amm SAS c%a) eflanéa @Lq_.l.-l_IG)S]Gh@GU ._s?rsimj)rréo' <
(A) | .g;;rsq an@uq LmHlEET SmamTmLoe) Guiren mrrﬂé;éﬁ G]a;rréo%ﬁ@ @..@é@a.b
®  sreiue Aess apgung) e '

(©) ey L 95"(55535 @pwfﬁﬂb %@@ Qumsng

@ sreyue @g:n@g@ @&uwu@g@m

'. | (E) _ et Glg,rﬂueﬁeumeo

- __Ordi_nal level datd are charaétéfised by
' (A)  Equal mtervals between each adjacent score

B A ﬁxed ZEro

W Data that- can be meaningfully érranged by _orciei* of nia’gﬁitude
I' D) .A fixed one _ | | |
' (E) _Answ_er ﬁot 'kn_own. .
: surﬂsm& L g,r;ra_[a;aﬂm @mn@m&rﬂ&,mneﬂ@
(A) ~ gwwnar @mt_@csuerﬂ&;@asg ‘@mr_uuu_ @m@@n@ g@@s uasasg,g%]m mgﬁ]uq
B o6 fjl@muu_lrmm LLEDWILD . .
_ .'-(C) STESEET (LPEDUITET aﬁlg,g‘,]un&mamatq_uumuuﬁ]su mrﬂem&uu@g,glgm '
'_.(D) 20 Hevawner @m@ .
(E). eflen_ Qziflwelerenen

; : : : ; : [Turn over



| _ 58.  The paste special command lets you copy and paste.

© CSSTI2022

(A)
(B)
Q)

Multiple the selection by a copied value
Cell comments :

Formattlng options

W The resultmg values of a formula mstead of the actual formula :

(&)

Answer not known -

el h @muq_&Qme 2 BISEET B&CRMSS L 2S@ISEE DG

(A)
(B)
€
(D) :
B

Gg,r'r’@m@ ;r;aa@eu@g@ wdlliumed Gumssaln
D@D SHSGEST '
@JQ_GU&“JLDLJLl eQlmLILIBIGET

O _GUTEMLOLITENT @gﬁqgﬁm@u ug%l@ma; @@ @gﬁqggﬂm eflenereins GU(THLD m(é,]uqa;sﬁ |
aﬁlcmt_ @g,ﬂuaﬁleusmso :

59. The function us_é'd in Excel to find the .aggrega'te values from a selectiori of .col_'um'n_s'-_

or rows from the selected range is

WSUM”

'(C.)
D)
(E)

average

© count _

Stdev

- Answer not known

-ngp@g,@&&uuz_;_ QJULDLCI]GIS]@EQ] (;Irr_r)@e.mﬂm&a;m .:U%usog,} mrﬂm&a;erﬂcm Gg,rraﬁlaﬂ@(r_ﬁgj

QuSs mré,luqa;smmas seaTL_Hl ETéene)-e uu_larru@g,g,uu@m Qeweu®

@)
(B)

©
)

(E)

SUM

average

count

Stdev. _
fen Qg,lﬂu_lsﬁl'ebma)

Lan o ESS D



60. How many sheets are there, by default, when we create a new Excel file?

W

_ y 3

o
@) 10 .

(E) -Answer' not'l_;_'nown\_'

@ g Excel Gamiew 2 (Heuré@bGung) @uqsb_urraé srggmem gndf&@_@@é;@m?

o

= s
© 5
D) 10

® o Gpfiucidme

61.._._. _Comments can be added to cells using ' : | .
(&)  Edit > Comments _ : . ' . i | . '
\VInsert > Comments % S A L s |
(C) File >Comments : = L ' ' :
D) Vlew > Comments

(E) AnsWer not known

: L (G sehisails ssgssman Goibamns
@) s> sopsse |
i (B) Qeme > é@‘é@a&sﬁ
© ca;rnin_; > &(éasise
| D) srans > smogisar _ |
® oo Ophuciome

e ; : = ' . [Turn over



62. Seasonal variation means the variations occurring within

(A)

a number of years

. Wpafts_ of a year

©
Dy
(®

@A)
- ®
(©
(D)
(E)

parts of a month
none of the above

Answer not known

: u(@eu.sarfm rmLUT(H eregl, UhasSnG o erGer Flapld wrmir®
| Ue aErEeaTTa : ' e

' @(")'_ <2}, 6BT Ly GOT u@@uﬁ]sb

oG g Elen u@g‘;-] ulleo
GG &LQ)L.__I-I_I.L:_I._ GTgIeLD B)evenay

el Qgflusioma -

_ 63. Measurement of irregular variation is obtained by removing

(a)
®
(o
- (A)
W
o

(B)

_ Trend

Seasonal variation

- Cyclical vanation

~ Only (é') '

Only (b)
Only (¢) _
All @), (b), © =

Answer not known

@@ré:as;bm'c;r;bg) @mé&@amm&_@nﬂég@ Grentigl SLsmamid émg'ﬁéa@mg'

(a)
(b)
©
@)
(B)
€)
(&
(E)

CSST/2022

Cunag
LI(HEUSTE) DTDHDBISET -

sl gHD Qnéstiser

¢ __(a) WL (b

(b) wL_HD

(0) @b

(a), (b), (c) eperrmitd
Gﬁ]@l_ Qg Muieferenad

32



64. In a time series, to understand the behavmur of the phenomenon the time series
data must be adjusted for ;

(C)  Cyclical variation -

(D)I - "IrreguIar variation

(E)  Answer noﬁ_known

(1 5rr€ng56]g5rm_rr .,ﬁlasggeﬁ]em 'pggpsmgemm qﬂgg,]@a;nmm HEHTS ng_mm;r
&rﬂuu@gg@mm@m _ : :

A) ﬁm@urra;@as@

B ugesmw orppsHHE

©  sppf orppsBde _

O)  pubspporpiiniuse

D s Cifudiies

- 65.  The best method used for ehmlnatlng the seasonal varlatlon sin a Tlme Series i in

W Ratio-to- movmg average method
(B) Method of s1mp1e averages

S Ratlo-to-trend method
(D) Link Relative method
(E) Answer not known
@ &ITGU‘&} @g;rruﬂsv LIBEUSTE OMmILTL anL ﬁasas uu_lsmu@u) W&& #lg);rgg, @p@mg)
i (A)_ aﬁ'ié]g ,r_r,a':@u) &;rrra:rﬂ (Lpenm
(B u@;gl ginafaer (g)@mg) =
(©) aﬂ@g—;ﬁ_sﬁ@gn@s@ @p@f)@
B eiesiannas :
E) S OsNuelodme

g e e s e e L
: ey S : i - [Turn over .-



. 66. . The method which determines secular trehd which invelves no calculations is
method. o o '
(A) 'Semi average
(B). Movmg average

W Graphical

(D) Method of least square

* (E) . Answer not known
rr‘%aiam_asrre.mj Gerei;a%]@m a@mqu&e arhgells samsSHL Ggmmuﬂ@eﬁng'(y)mm
) .u@r)(e%] gymafl apav | =l | '
(B) | ﬁe@m symef apavp
(C) | GUEDTLIL @smm |
_ (D) 8O auiriss e
) e Ggfucidme

B - The component of a time series attaehed to long-term variations is termed as -

Cychc variation -

\V Secular trend

©) Irregular variation -
D) Slmple.varlatl_on_ X
(E) Answer not k_nown' _
5@@_@@ OTUT(HEET et e Qgniieuflensudlen o piiLEGaTT®
GG DHEMLPESHLILI([HID.
(A &5@@@ wrmur®
B BaGutss
| (C)_ e@fﬂéﬂbw ) TBLC)
D) eefluomun®
(B) e Azfweioame

AR .



68. Most frequently used mathematlcal model ofa tlme series IS

4 - Addltlve model

W Multlphcatlve model

(C) Mlxed model
(D) All the _a'bove

' (E) - Answer not known

- sneveit @g;rn_rﬂso cguq_a;asmr vweTuBSsLILHLD Mms;aﬂueu euLoreusmmuurramsj
(A). (Ba:rra;@as emq_eusmouq

(B) | Qupssd Ulg QUGMLOLIL

(C) aswﬁu'-@wm?mﬂu

."(D) . CuGe sapliLi L acbmgglb

(B o Gsfludoms

69. Arrangement of data in chronologlcal order is called -
(A) Secular Trend |
(B) Seasonal Varlatmh

- Cyclical Var1at10n

W Time Senes |

(E) Answer not known
' -mﬁml—t&@m Guﬂ@&mﬁas DD @u_@m @g&;@gm@@@gm@gum
(A) Bam_ sreot) Gumig, | : | . :
~(B) _I u@m&@ Lorrrj)..g)réue_};e\i'r .
- (O spe qmm QpéshEaT |
(D) STELD FTIT Qg).m_.r.'r:eurﬂém
_(E_) ._ eflanL .ngﬂﬁaﬁl@mm ._ |

gl e Lo cesTmees
S e 5 : e - ' [Turn over -



T % m'e_thcid_' full of subjectivity to find out the trend line1s :
| (A) Semi-average method 5

(B) Movmg average method

M Free-hand method St

D) Method of least squares

(E)  Answer not known
L em @uné;a&]'mmé;_mmuglcﬁ gﬁmm gaépﬂa&sogg,mm umru@gguu@m weon
(A) Ul &Un&rﬂ'@mgp . i e
: (B) ; _lLr;aS@Lb grngfl (_chmgg
©)  slLpp@sQUELL oD
(D) 8&8m auiiss e .
: (E) . 6)9@9[_ Ggﬂmaﬂéﬁm

1. In a network, the free float of an act1v1ty @, 7) 1s

\@a/ Total float ~ (L — ) of event

Total float Al = E) of event j
. (C) ; 'T_ot__al float + (L + E) of event j .
(D) Total float + (L — E) .df event i
(E) Answer nof kndvﬁm £ :
R Gvsémuwmuué? %@L@Lé@@ (i, j) erénp Glwedludler &LG\ﬂiﬁ.tﬁlm@ aé@@l :
@ Ginssibpde U8y . . | |
B) Qunss Bigsiont (L—B)
() Gurs e D
D) Ourgs igmes + (L—E)i
E) e Gsflucidme

cSST/2022 - 36



72. In a given cost matrlx if the no. of rows 1s not equal to the number of columns, then
1t is said to he :

_ \M.Unbalaneed Assighment.'Pl.‘obIemz
(B)  Unbalanced Traﬁsperta'tion Problem
(C) Balanced Assignment Problem
. (D) Balanced Transportatlon Problem '

. (-E). Answer not known

Gan@éslu [Herer G]&GI)G]S]@T .;gqemﬂaseﬂsv ;F)]Gmgasmﬂam eramranfiGenawirans  Hlreseafien
Grsmsretsoﬂassmas@u_irr(a FLLOMS @mmm@maﬂw SIBEOET ——————— GTEN BPPLILIIT,
B sweppppss O sarse ' | |
(_B) -&Lbﬁﬁg’)g) (Buﬁs_@sudgg a;aﬂsr_és@

'(_C) | 'ELﬁLDJTGDT@g;jéE&L.@EG&WéE@ .

(D) | -&Lemqm'ﬁuné@mgl&,@ asaaﬁé;@

(®) e Qpflueiome

73. For a LPP, in dual smlplex method 1f all (z;-¢;)=0 and all Xz >0; then the
current solutlon L glrate s ik
W an optimum feaeibie eelu-tion
(B)  an optimum basic feasible solution
- (O not an optimum feasible solution
(D)  notan optimum basic feas1ble solutlon -

_(E) Answer not known

63(1 Gg_r,r'r@asrrl'_(B @[@muq,&, L sdléd, @mLo gséuﬂu ueﬁ‘r@)as @eﬁ),r_r_)uﬁlsb, Q{Gmsﬁrg@ (zj-¢;)20
 oHmib é{Gﬁ)GﬂTﬁél XB; 20 erafled, agaszrr BLOLS ﬁrrajrreﬂgu ———— 45 QOHEGD. :
(A) G ﬁnemm @m&[_ﬁg, (érreu | i
- B) @@ fraw sipiueL Gasps ey
©) oo fimvupy @wsss Sia)
- (D) : e Srembpp @iq Uit Gasps Siey
(E) efepr G]g;ﬁ!_u_ieﬁlebcm) ' .
B A o e e
_ - : ; e o [T-_u_'rn_'ov'er



. an example of —————— model.

W Analogue

©
)
(E)

Mathematlcal

: Determmlstm

_P_rob_abilistic :

An‘swer not known

74. “Model rei)resenting the order of occurrence of various events to make a product”, is

g@@ aﬁcmm@urr@mm g,tunﬂuug,g)@ LeGeum) ﬁaskpeqasaﬂsm cuflengenil &mib. L]Lq_LDLD Gre‘oﬂ_lgj

@)
i@
©
)
®

75. Samphng Inspection reduces the I‘lSk of :

LJLq.LD(&,(é,][D@ THSSHSSTLLTGLWD.

@.{5&; oty
asamésél (Lied

Srorailésssong

'ﬁa;ggg;aa@ﬁmeb'

sllevL Ggflweilerenen

M Producer

-(C)
®)

Consumer

-Loss

Process

Answer not known

arsaflan GLeny sag piie) GopsAns)

@
®
©
(D)

®

CSST/2022

g_g').l;i,e_i';ﬁu_lrrmﬁ | :

- marGeur.

BHLLID

Qewepenn |

aﬂcm_ Qg,lﬂmeﬁébmsu
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76.  The relation between expected value of R and S D. o Wlth usual constant factor 18

(A

E o

E(B)=dic.

E(R) T

Answer not known

: Rﬂ@a’n Gr,ecj]r'runfré@m LDQQL;&@LIJ, AL eflevgstd O'.-‘S'S@Lb o _Giren anLﬁq

@
®

(©
(D)

(E)

E(R)=dio
E(R)=dyo

 E(R)=Dyo
E(R)=Dyo

- ellenL QaMwelieane - :

77. The3-o control limits for R-chart are

WUCL DE CL=F LCL=DR

(B)

©

o)

RS

A EE DR CL.=R LCL.= ;R
U.C.L.=D4R' cL.=F LCL:DE
U.CL. DR (1= RLCL DR

: Answer not known

R -aimyLi_gden 3 —o s @rium @ Grsbém@m;rng

._ (A)'

®

(©

D)

. "'.(E) 5 dflent Qzflwaldema

UCL=D,E CL=R LCL.=D,R
UCL =D,R CL=R LCL=D,R

UCL=DR CL=FR LCL.=D,R

UCL=D,R CL=R LCL=D,R

39 = |  CSST/2022.
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- 78.

79.

The means difference between 9 paired observatlons 18 15 0 and the standa-rd
deviation of difference is 5.0. The value of statistic ¥

- (A) 27
| @/9 |
© 3

@ 0

(E) Answer not known

9 Gwan wHiysaer sy Coipun® 15 hms S dossn 5 aalld, t -yeraibue

siemedi_ig.em gl
(A 00 -
® 9
© 3
® 0

(E) eflenL Qg Mweildvene

To test Hy:p=py Vs Hy:u# when the population_S.D.'is_k._nown, the appropriate

test for large samples 15 -

(A) t-test
\V Z-test

(C) : x? -test

(D) | Ffest.

(E)_ Answer not known

(PpEDIDG G\gyn@ﬁﬁlm é]l_L_QSlGDBESBLD (8.D.) Gg;:ﬂum ulesHa Hoy:p= Ho Vs H1 )u¢,u0'
- argiib er(@Caneen GanHés &g;eqm Qum widlflésren Gangaen |

s (A) i G&rrggaastsr <
(B) Z-Cangene

() x*-Gengear.

M F —G&ngmém -

(B e Osfudisms

| CSSTI2022 e L



- 80.°  From the 2 x 2 contingency table,

the expected frequenmes are

h@/1723812

(9 12,28, 8,12

(E) Answer'noj: known

- [12728
113] 7

A 17,23, 8,12
1288800
(EB) L G]g,rﬂﬂﬁ@ﬁlsb@mw

(B 15,25,10,10
(D) 13,17,20,10

Gresm 2 x ﬂ@@@@ﬁﬁﬂ ui.@u.rsﬁ]@fbgu, Grﬁfrunfrgg,eh 216 CleuemT L1t ig w16

®B) 15,25, 10, 10

D) 13,17, 20, 10

81. For testlng populatlon variance o2 = o¢ the statistic ;( 18 glven by

@ peons

.

(n '—_2")82 e
e

e

(E) Answer not knowh_

) @@@m@gﬂr@@ LDITQ;}ILJ[T@ 0' = 0'0 : urﬂ@&rrg,emmuﬁ]a) uumu@ggyu@,m ahgﬂ LaRTLeTaney S

| ._';( Grem'ug; s

) M

(E) e Gsflueldamen

B 2=

'(D)_ =2

n 8> ;
2

o?

ns -

CSST/2022
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82.  If the population proportions are distinctly different, the S.E (p,-p2)=

PQ, PG,
n - Ny

©) \]PIQ{;%*;H
1

(E) Answer not known

- pupews Aergduden eldlsd Geueu@eugn s, S;E(.p.l.' = Py)=

(23
’ : 1 2.._

- (B) e Qgrﬂu_laﬁlsbcma)

83. .Ir_l test for proportion, we test
| (A) _Dependence-_df attributes.
- (B) Independénce' of _attﬁbutes- |
)  Presence and absence of attributes
' .(D) Mean and variance of attributes
- (B AnS\;'ér not known -
- dls G&ngéﬂmu&]@b, BITLD G&wé.] LILgy SE <pGWD.
(A s usu'urq#nr'r- e | |
(B) &rrr'r.a_iﬁ)lgp LIGRTLIEMT -
- (C) Qs&mu&nrﬂm Goementd ILDg').@]Lb ooy
D) us&iTu&&iﬂehr E.U‘I'I'&Fﬂ DpHMID LFeuDLIG .
(B e e

cesppens, - a



. 84,

test is for testing simple or comp051te null hypothesm agalnst smlple or

comp031te aIternatzve hypothesis.

(A)

Most Powerful

\V Likelihood Ratio -

(O Uniform Most Powerful -
- (D) N-P Lemma |
(E) Answer not known

G&ng,emmu_frrm@ FITE TTEwT (Qm) am_@ (0TI Gr('b\('o’aarfm erdlim &rrgrnjmrr (&q) am_@\

Lnrrﬂ)gu er@@asrrm Cengevar Gleiw ummm@a%lmgj
2 (A) L&Gﬁ)&igé‘ﬂ)@'ﬁr

B)  Pspssss s

(©) - Egnew Lﬂmagﬁmsﬁ

.(D)__ | G@mé&l Swirger ggjsmsm @g,ﬁ);p' |
(B o GsMucidee

' 85.  Area of the crltlcal region depends on

WSIZB of type I error

(B) . Size of type II error
(Cy  Value of the statlsti_c
'.(D) Number of observati.o'n _
(E) Ans.s.)ver not known
- Siey 654-_.1_ UGS e ﬁﬁuum@{ —~————~— SN HE) gﬁm@};
(A @ﬁ:‘i’ QUGS @mmeﬁ =266y : |
“(B) @'gém_m sﬁsm_a; l_(ﬂGif}ic_QU_(ﬂ@T .ﬁlsﬁm :
| (8)) : qsi‘rraﬂUE]ﬁJGb I_IGD:OTLJ.GTGDJGUUEIQT &l
D) _Grs&aTmﬂé,@aa SeTL_Hlge 5
B e CivaRae

e L . CsST/2022
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86.. If x>1,is the critical region for testing Hy:0=2 Vs H, . @ =1. On the basis of single
: observation from the popula_tion. f(x, O)=0(exp—0x), 0Sx<0.. Obtain the value of
“ type 11 error. ; ' :

o e e
; e - : it
= ? e.__ : . - Gl - :
w e : : s (D) e—1

B Answer not known

@Gy @@.amdﬂ@m Qa;rr_e_;c'rsn_'@@cbm_ Qs f(x, 9)%9(éxp—6'aé), 033@«:5 G&ng%lésq;,l. ;
H,:6=2 Vs H, @ =1en Siey SLLI uEd x21 aafid igan @rarLrd euas G

. samsdle|b.
e | @
_ o - _ L&
: Cpa] : - e
) Dy ~——
e _ : e—1

® e Osfucons

87. Uniformly most plc')werful test is appliéd for testing
| (A)  composite H, against composite H; =
| -(B) - chposité -H-D aga.inst simple H,;
: \V simple HO égains’t composite H,
(D) simple H, against el
(B AnsWer not known
. Egment Lﬂ@&é:ﬁg‘ﬁ)@f wn@ﬁ;g'@&ng@e&rm Teoigy T Gangene QeiLLwe @aﬂg’jgj;
Q) s Hy adiam G H ' ' -~ |
(B) ml‘_@H_O GTQr'ra;rrngrrmuT Hl.
(C) sngmyewr Hy ardli gatl (B H1
i (D) sngyent Hy .Gl'élff &ng,rrr;@ H, .
(@ e Qsfucidae '

© CSST/2022 = 2 B i



- 88, The test statistic' t = X~ & is used to test. -
- S/In |

: (A) Hozﬁzyﬁ wheﬁ'q is_.'know'n. -
- % _HOH.‘,Q: ,QO when cr. 1s unkhown
C) HO: = _When o is known -
D) Hy:p=p, when o is unknown
() - Anéwer ndt know.n'
(E&rrg,mm qmaﬂuﬁlmsu @pm@ﬁ’@ t= X/\/E LILIGHTL L_ssamar@ @&ngémmwnm@

{A) _Hoz;f=y0_,_ J—Gg,rﬂ;‘ag ggl@su.uﬁlau
By H, -:;):%,’ U-G]g_rﬂmfrg, ;Fﬂsmvuﬁ]e‘v

O Hyu=p, o-Gsfss femie
._'(D) | HO =ty Qgrﬂmng;ﬂmmuﬁ?ev '
(E) * e Grg,rﬂu.raﬁ]eumao '

89. The term (1 a) is -
(A) The probablhty of Type I error
(B) . The power of a test 3
(©) The probab1hty of Type II error
W The probability of not reJectlng the null hypothe51s when it is true
(E) Answer not known : '

(1-a) m’eirrug,j :

B Bl o auans ey

® (é&rrgsmmuﬁ]e&rﬁméh%@&

© @a@gmﬁlm@gmqm@m Qe _

D) Hspsseien Hys ﬂasgpg,as@ﬁ]em 8 gosLLBeug /Hc. &rﬂu_rrrfau'@

(E) '”asnm Opflucioma

e - e  cssmzo22
: : P2 i : - [Turn over



90. Let the probablhty density functlon of the populatlon be f(x, 9):—, 0<x<0. Let

{x 0. 5<x} be the crltlcal region based on single observatlon . Then the size of :

the Type I error for test_;ng H,=0=1,is

(A) 0.25
\V 0.5
Y098

o 1

(E) 'Answerﬂnot' know_n '

.@@ @@Gﬁ)mg, G]g,rr@ﬁuﬁ]@‘r {rﬁ]esgpg)a;m @u_ng;ﬁ &L f(x, 9)——, 0<x £ 0 erans.

W= {x 0. 5<x}m&mugﬂ @@ meﬂumu é;qmruusml_mrra; Qara_ @b ﬁrreqem_l._ u@é] TENS.
Hy=6=1 eaip aHGsrafien (B&r_rgs_ﬁ)wuﬁ]sm &6 cuans (Aenpullan BieTey, : :

(A) - 0.25

B s
(C) 0.75
™ 1

(B oo Opfucdame

9L Maximum 1i_kelih06d estimators are always
. (A) 'unbiasé'd estimators '
V consistent estimators

_(C) sufficient estimators

D) . efficient estlmators %

_(.E_) Answer not known -

'LSQQLJ@ ;ﬂa;ggeﬁhusbq S _Teng Gnli_@urr@uﬁ
@) Gppéfupp wHiS L '
(B) QuITEBSSAPENL LI m@t;ﬁiﬁl;l_rrﬁ'ﬂ

(C) Gumrgwme LD@L:-ISL'_L__NG'OT"

D) Sogmer wHLSLLTE

(E) s @QGFJL_ Qgﬁlmaﬂd}mw

CSST/2022 e T . -



a2,

93.

Ina randorﬁ sampling from N{(u, -0'2_) the MLE’s of u and o? are ———————-——-, =
: n b : = = | ) : B2
@) f=Yx and 62=) " (B) 4=Yx and 62=Y%
: =l = ; S e =l BB
% - Azl o ; | = ooy .
W)  f=X and & == > (x. - %) D) p=X% and 6°=—"_ (x; —X)
e g . e
(E) Answer not known
Nu o) erep @ueuﬁ,]emuu ugsueﬁ]@pg &Gm@&@w@un@ i, 0'2 %ailtuemma;aﬂm
Lng‘,}uiﬁl_rrsmgu LSuQu@J ;Elasg_:ges& mgﬂuﬁ@ @mg}u_‘ﬂsn — \ - - B4 GLD. :
] ; n E 5 n.. e . Sl x
@ a=yx mmng 22w B A=Y wppo 6 Z;
: =1 i i i e il
: : .- A 2 . % .- b A2 1L.& — = e : ._' A2 1 Eiis . )
© A% opp> *== 3-8 @) =5 wppid 6*=—L 35—z
i o g : X i = . o n—1 i=1
(E) ﬂm@_@grﬂ:uaﬂ@mw
In the maximﬁm_likelihood estimation @ is the _sblution if
- o e SE. gy -
A £250 and sy o By bl end A
G e e 0 e
. - - S : o
pEEEL L
N o - 00° - 06 . 886
Aty An_swer not knéw’n :
: :-LSuQu@ﬁ]ang,ga;es Lngﬁlulﬂu_m@aj @emgnuﬁTGu 8- aﬂ,rp@ St denés, (Egsmsuu_m'w,r_ﬂu,r_ﬁgmm
Gram_@ A
o &L . oL FE
A)  —>0 wpmb —=<0 B) ——<0 0
@) 52>0 whg 7o o ®) ) mwm 7>
ol o | : aL &L
C —=0 whmd ——<0 D =0 >0
o m o D e 06"
- (E) - eflen AzNweldeame
L e CSST/2022
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94,

In Rao- Blackweel themem L a

Var(¥Y)z

(A pand Var(Y)

(]é)- - ¢ and Var(X‘)'

W and VarG0)

95.

(D)  p and Var(X?)

(E) Ans‘wer not known

- CSST/2022

nd Y are random -variables with mean z and

~ variance o and E(Y/X x)= ¢(X) Then the value of E(¢(X))— s

Tl @mn&@sua) (Sg;mmggﬁeu X whgd - Y égbﬁu.l :aurru_iuu LD!TQS]&E@&E@ gymef 4,

DAL L GTEDE T oHOILD E(Y/X =x)= ¢(X) erafléd, E(¢(X))— OSSR T
Var(Y)=- wmﬁuu——ﬂ.'%@m‘ '
&) pwppod Var(¥)
B)  u wpgd Var(X)
©  u wppid Var($(X)
@ # woppid Var(X?)
B o Asfuaido
 Faectorization theorem is founded
Neymann. .
(B) Pearson
(C) - Cook -
(D) Rao :
- (E) Answ.er not knovfn-
- gryant GHOOLD a@m.rr;%aﬁmsj'
(&) Gpiuoen
B Guret
W e
) g s
) oo Asfucidoe
'48__. : : : : ; 'f"._



- 96.

97.

If a sufflcwnt statlstlc exists and it is functlon of the
(A)  consistent estlmator
(B) unblased est:tmator

- (C) mlmmum variance bound est1mator '
W maximum hkehhood estlmator

(E)  Answer not known

@@ Cuingiomer SanenLo. G5 ({H eﬁsmi_asas Qu@@m&suﬁ?m é@@r@ﬁ)l_ e}mﬂ_|
(A) @un@gg@mL_u_i Log%]uﬁl_r_rrsw
-AB) - Lﬁlmggac#humg) mgluﬁl__l_rrm

T Lﬁarglﬂgu OTHIUT B euFibLy mﬁﬁiﬁl'_l_msmsu |
D) B0Qum Bspsse LDQC.HE@_.
(B)  elen. Qsfwuelorena

An estimator T, is sald to be a sufflment statistic for a parametric functlon y(@) if it

"_contams all the information i m the — regarding the parameters.

(A) - parametric functlon 7(©)

" (B) populatlon

| ey Mample

(D) function of .sam_ﬁle-.

" (E) Answer not known

T, Gremg) Ln;g_ﬂuﬁ'u_msmsu y(ﬁ)rarsmg) ngrr@;ﬁ &rrrrl_‘ﬂsw @urrgjmrrsm M GG Gre

' 2IePSHLILIELTU 6, umummeuuﬁ}em &mmgg aﬂeunrma;@m = e
~ Geuam(ib. ; e

@ . B y(@)

B)  wyow 95”@5”

- (C)  am

ay &a.Dl6or FTiTL
(E) v QsMweldame

e o  CSST/2022
: : : [Turn over



'_98'.' The sufflclent cond1t10n for consistency is .
(A) _Eg( n)_—)y(f?) as n—>o and VQ(T )—>y(0) as n—)oo'. -
®) V,(T,)—>0 as -0 an.d_'Eﬁ(Tn)—_) 0 as n—>o '
©) . Eg(Tn)e)y('Q)- as n—>o and Vg(ﬁl)—ioo as n—w
\9’ E,(T,)—>(6) as n—w and V,(T,)>0 as n—>&@
- (® ‘Answer not known ' = :
- @urr@g,g,mrrm mﬁuﬁ;pmmas@ Gur@mrrrao‘rjﬂug;g,mmasm
Q) E;(T,)—>r (@), n—>x Lngogjm VG(T Y= (0), n—)co
®  V,(T)-0, n>w wopd Ey(T) >0, n>w
©) .EQ(T )—);/(6') n—>o WDHYIL VQ(T)—)w n—>o
O E,@)>70), now oppid Vy(L)0,noe
(E) . el Ozflusidme e : '

99. Which one of the 'fc.:llowing'is correct (C.R,_ Rao) inequali_ty’? .

- | i : .

@ Var(t)<{a‘a‘}’(3)} - (B) Var()z B~ —
il )] el \( | [~ y(é’)]'

(C) Var (t) < L : YD) Var @z _ﬁzi__,__

0 . el
2 JeeL : ; e
e e

' (E) . Answer not known

. Spsmamiid &mmﬂmmwa&aﬂm sfwrer C.R. Rao &me&lmemm G@’?

&

e g

(A) t -em '-D"QP”@_ <{§% 7(9)} : (B) t -eo LDrrg_)Jurr@ > _%__—_—
<
[3% ¥ (9)] Sl (}%'. y(@)) |

e e (D) t-érwigui® 2-— 5

~ 2

=

) t-cgbfmrrg;urrg <
= {ﬁ_ th} e

- o8 - . d=-logLy .

(B o Osfludoms S _

CSST/2022 s 50



101.

(A) Gineil Fértility Rate .'

'M Specific Fertlhty Rate

(C) Total Fertility Rate

(D) Age--spemflc F ert_1l1ty Rate

-(E) - -A_nswer not known

S(THELET Gﬁggﬁmaﬂ S @gﬂuﬁhml_ esm’,rmﬂmtuas @aarrc»;m@ &mw&ﬁ@m@gmu@

SEAY Qur@ H(HEUGT eﬁg,m

(B) ALy a;@@m‘r aﬁ'g,LD

: .(C). 'ang,gas@eumeﬁg,m

(DI)' : suu_@j éﬂ;puq &(HeueT Gﬁg,u:
(E) - eleo @giﬂu_l@ﬁ]eumsu

Vital statistics are customarily expressed as

(A) percentages

(Vper thousand

(C) per mll_hon_ _'
(D)  per trillion |
(E) = Answer not known

2l L.;GiTGﬂUQHJGb aup&sLons efleuflésluBeus

(A) speiflssdler

B e gamss

(C) Boefluen pammse

- D) @L'Juu;__ L&éueﬁ?u_t-aﬁ_@ah@é{@-

(E)  sfes AsMuciideme

- 81

'100. The fertility rate computed with respect to any particular' factor is called

CSST/2022
[Turn over



102. If the Qalues 202 = .36'40, .EPf =1,22,000 are given, the_n_ the crude Birth Rate are -

(A)  0.029
(B) 0274

g7 298

D) 274

(E) Ahswer not known

.EDG = 3640, P .— 1,22,000 %aﬁ]me}u@gﬂ]@ﬁ Lngluqasm Greuﬂeu Q&uueoﬂl_rr Gnuiy @ﬁg;mrr@'rgj

@) 0029
(B)_ 0.274

Loy ma
@ 214

(E) &) aﬁlml_ Qs Rwefaama

.103. The age spemflc death rate for the bables of age less than one year 18 spemfmally
called - :

A) | neonatal death rﬁte
o .meant mortality rate
. I(C) : _m_étérnal mortality faté .
(D) foetal death raté .
(E) Answer not khoWn
@@ G)_ILL!QJ&S@I_UI_L. @%Qg;emg,asmﬂem mu_@ @,rﬂuﬁh_l_ G&uueﬁﬂur @may eﬁre__mb Gréim_lg,j
zﬂuurra; ; : -
A iﬁ]gjﬁémué &Hl:r.([ijg;.__@.ﬂ)liﬂ__] &b
® Ss@poudted
(C)  srtusTe Qo eisid
D)  wdismeeresa @iy mﬁéﬁm
(E) 'Gfﬂsml_ Glg,rﬂ u_i@ﬂsomeu
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. 104. - The standard nuﬁlber of births 10,000 oi'igiﬁating a life-table is known as e
| (A) - acohort ) | ' -
(B) initial 'population
| Vradix-
- (D) . pe14centage '
. (E) . Answer not i{nown
8 UL ST L euapamruila gwrer ApLisaflen sramafléans 10,000 eran < Tlgsme
10,000 arémug) ' ' S
@ oskh o
B) : Qg,m_‘_éaés-mésqam G]g,rrém.ss_
© sy o gob
D) . FHEIBLD
® o Gpfucdoss

| 105- :Populatioh.Statisti(ﬁs mainly display the reCOrds-pertaihing to
: (A) . foetal'déaths e | ' :
Sha W population of fegiof;’s I'
© morbidity '
(D) birth rate
- (E) AnSw_ef not known
mé;_&raﬁ Qsrevs Larafl efleuomang) —————— &Lbugg,aqrfsﬁr <24, 6L ST TBISHEDET QaualGeusnE
Lwern(hdng. : ok : '
. (A) : '@glfras@@&rrma;df': :
(B) LDGﬁETI;GD eunflwme LD@EBEGiT_@g;I‘I‘GtD_E
© Gpno | |
@ iy eisn
B e OsAuiaiaema
e e ' T ~ CSST/2022
i eg ST il : : : [Turn over



106 In Post- Independence India, the reglstratlon of Birth and Deaths Act was passed in

@

(B

1948

Answer not known

@pdur  sspfiers  9pe  Gpoy  @podeen  ufey  Qeiwb st
P p@DUILESFLILLL 2yaH - 5 o

@
®)
©
D)
(B)

1948

1959
1969
1979

' a‘i]sm_ @grﬂu_laﬁ]suana)

. - 107. Reed Merrel method of construction of abrldged hfe tables utlhses _

(A)

age specific mortahty rates :

Vcentral mortality rates

(0)  both (A) and (B)
(D) neither (A) nor (B)

(.E)_ _ AnSwer not known :

L Qm@gsﬁ]aﬁl @Gmg)uﬁlm g,u_lrrrﬂasasuuu_ FHESULILL %ﬁ_;srr .gu_l__suemmuﬁlso

L GSSILGEDS!: _

@) awgy-EAOGL @poy dsn

®  osu@piyeisn

© &) wppi> (B) @ranGi>

® @) opgid (B) @rardiidme

®

CSST/2022
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108.. :’C.onsumer Price index reﬂe(_:'.ts' on the priée changes expérienced by -
&) anindividual -
(B)  aparticular fé"mily :
: V all families of a popuiatlon _
..(D) i partlcular 1nd1v1dual Of partlcular populatldn
. (E) . Answer not known
msiGeut eflae @g‘ﬂ_tﬁ@- aTenLIGH _—-——_—Q-Gre'trrusur}rréo a@luaﬁlg,g) efleneo _Lnrrg')_gjréjasdﬂ_éh_ .
;Slr,rﬁlueﬁ! o 24@LD. ‘ ; :
| A) @@ sefipun
. (B) S0 @@ulﬁLL; GO UD
© 20 Ww®ws Qﬁ’-’”@:@ ”51@21 dTeT AW S5 @@LDUFEJESG”
D efudi Géﬁ@,@ﬁ@umﬂ S0 GHICL wﬂmuﬁ
E) oSl @g,rﬂmeﬁ]mmeu

1.09. The indéx that satisfies factor revérsal test is
W Flsher s Index | .
- (B Laspeyre s Index
C) Paasche s I_nd_ex
: (D) Walsh Price Index

- (E) . Answei' nﬁ__}t known

aaﬁqeﬁﬂmﬁbgﬁ @&r_rg)émamﬁmm ,rf,lemm.@_] Qe @LI‘-)_].LL?.}'_@I_GD:W.
A) ~Soafidn @A OL s | '
® b @uificn @RS O
©)  urefuldn @@USL@L@ '
(D) eundafin éﬂmauéa @O Gl :
B o Gstudoos

o e e e © (SST/2022
' ' e B 5 [Turn over



110. If Z plqﬂ == 535 z poqo = 365 then Laspeyre s price 1ndex number 18

B) 68.22
o
(I 147

ABY " Avswerrin known

Emey =835, Tpa. - 365 cnn iR el @gﬂﬁﬁ@;s&%@ﬁm semidl(Hs.

oy meaT _'
| (B) 6822
i
D 147

€ e @glﬂtuaﬁ!@_)smu |

111. _ If the index. numbe1 1s 1ndependent of the umts of measure.ment then it satlsﬁes .
(A) Tlme Reversal Test
; (B) Factor RéverSal Test .
G Unit Test o '
(D)  Circular Test -

(E)  Answer not knoﬁrn

(% @gﬂ u3|_@ GT R .@peo@asemm &rrgr@@;r)grreu 35 &I_GOTIJ@LD (Bg,n@u _
| .(A). .5nsomrrg)gj§, G‘a_arreq

('B)' amyent! LrHms Csita,
- © e Catey

D)  spps Cpiiay

fE) - eflerL @grﬂmaﬁleb@sv

- CSST/2022 o W g



- 112. TFisher’s Ideal Formula does not satisfy .

W Clrcular Test

(C)I

D)

 Gegiflen éﬁ]@Lﬁ]qu @gﬁr;n.b

(A)
®)
©

o
®

Factor Revel qal Test

_Tlme Rev_ersal Test

Unit Test

Answer not known

FpHél Cengeman

s;ﬁnemf] mnﬁ)QJ G&rrg,ehm :

_ sraoid LoTHE G&ﬁgmém

@46{)@# G&ﬂgysme‘:o‘r

aler Qsfweldee

: 113 Most commonly used index number is -

(A)

- Diffusion index number

\V Price mdex number

(©
@

(E)

ofs QUi gu:em@gg,uu_@m @gﬁ]uﬁf_@ GT e - '

@
(B)

e
(D)
(®

Quannty 1ndex number
Value index number- .

Answer not known

AsHlw @gS]uﬁ’I_GlL_GMT .

eflevew @HUI_GL_amr

siene) G uﬁi@?éﬁ“ |
oHiy GRS OL s

cllenL_ Qg,lﬂuaﬁlsi)eﬁ)su

57

@ SHLHLOSES.

— 260
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 114. Ifthe correlation coefficient r is positivé.-then_'th‘e -regress‘i_dh coefﬁéients. are
' .(A) ﬁegative' ' |
(B) -equal

(D) greater than r

(E)  Answer not known

BLBpass Qs r %e‘m@ G{Eﬁ%ﬁ@@@éﬁ)#ugﬂ&i'@@ﬁlﬁ]ﬁh QAgm_iiy C?urré;@& G.aa@éscsmnsmg; .
& (A): Gfé,]r'ré;@_,f_ﬂ &GED.I.._UngT&S @@S@lﬁ'

) sibiarer e disrs Gk
O Cﬁg;r'ré;@;ﬁ]}o_mt;mg,rﬁés @@&@3&)

.(D) e wé CiepLiadl @[éllas'mrrias Qosen :

(E) ol Gsfiuedieme .

115. The lines of regression intersect at the point

@) (X,7)
7 X7
© (0,0

@ (o0,

(E_) Answer nbt known

= Qs @u_rrés@és Gesrr@aseﬁ Geut_ g & Qamerierid Lyarefl

@ XY
® XY
© 00

® (.0,

(E) elen Qgfuweléana

Gssweezz: - 58 " el



116. - The average age of 50 students in a bus is 20 years. When the age of conductor is
1ncluded the average age is increased by one year. The age of the conductor i is

@ 51
‘(B 55
\V 71

D) 50

(E) : AJ_lsWer not known -

R0 Gu@ﬁ_@@ o grer 50 mﬁemeur‘ras’aﬂén FynEl euuIg) 20.:5u([5|_,r'5w;eﬁ. BLSglenilen elens
Cai@bCUTE srmefiuTas) @@ aiL b Sigsrang aafld BLGglerflen LIS :

@A) 51
(B) 55
_ iy 71
@ 50

(E) eﬁlml._ Qs flwelerena

117. How many points which divide the series into quai‘tiles_?

QA 4
o s
€ 2

o
(D) %

(E) Ansﬁver_‘not known

. g OsTeny _5rréb1.nrr‘éyrré1.ssmrras FTESEaT LjeTeflgeT iﬁ]lﬂésﬁsiﬂﬁ)m

@ 4
o
- 1
® 7

(E) o @g,rﬂuaﬁ\svsmo

§ oo . o CSST/2022
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118. The Geometric Mean of 3 observations on a certain variable was calculated as 2.
Later on, it was discovered that one of the observations was wrongly included as 3
instead of 24. Then the Geometric Mean of three correct observations is

TR
C) . 16
@) .27

(B} - Answef not known

(M @rﬂﬁiﬁﬂLL. :LD.IT[_TS_]LIS]GEW Lo ey ILDQC;]ILIL_[;BSGﬂG'W @u@é@é_&l}n&rﬂ 2 erem semTaESIL LIl L g, Eﬂsﬁu .

Qs eparm WAL safe, & Sy 24 g,;;uggéi)rras- 3 era Gr@_ggjé;G]aérr@'rTarruuL'_l_g,J arenfled,
aflwren apenn wHisafler Qunaes symef, iy e

@ 3
® 4
(.. 46
W)y 27

AR silenL. Wgflweldamea

119. 10 is the mean of a first set of 7 observations and 5 1s the mean of a second set of 3
' observations. The mean of a combined set is given by '

N TE
g 85
' © 10
@ 15

(E) Answer not known

7 efleuriiser QamesrL. @gé} @g,rr@ﬁ]uﬁ}eirr &ﬁn&rﬂ_ 10 Lng')@i_b_ 3 elleurniser Qe @) remrL_mb
- Qsreduldn synsf 5 erafler wicued(m Csredsailen Gameanhs srrefuder iy

& I8
(B) 85
) 10
D) 15

(B oL Opfucdome

e . . gy bia



= 120.' If the Ge:ométric Mean of x', 16, 50 be-_'ZO then the vélue 0‘_f xX1s

@

(B)

e A0 s

20

.__Ww

121

()

®

(A)

(B)

(%)

(D)
5

4

Answer not known

x, 16, 50-an Qusssp syrsil 20 crafled, cg{gsﬁﬂ@wm x -6 ULy

. 40

20
10
4

- eflan Qg flwelildene

The suitable average for qualitative data is

(A)

- (B)

L ®

O
(E)

@

®

- ©

D)

Geometric Mean

, _Arithmetic_ Mea_n

Answer not known

- Lamye e ThIsEREE QUTBSSITET symsf

@_u@é;&sb &_Urf&rﬂ' 5

gl (H& synaf

; @ém_‘rﬂma} .

wab |
eflenL GgMieiidee

61
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122 Among the given sources ‘which is not a source of secondary data?

(A) = News Papers and Periodicals (B) Pubhcatlons of trade assoc1at1ons
(C)  Research Papers i @ Sur Vey for a spemal purpose
(E) Answer not known

- Oarhssiul_Herer .%,g,rrrjmas@ﬂm 6Tg) @U‘@UTI_H‘LD Bleney Ljerer] aﬁ]ul;rrajas@jaaasrrm %gngdwm@) 7
(A Ceudssrarser WHNID LiHey @gggassrr B) Qsmfpsrsisaier 9y Q@Jmﬂuﬁ’@asm

(C)  ormiLsis sL_(Denyaer (D) @@ @gﬁ]ulﬂu_ Ggmsua;aarrecrr SanéClas(HILIL
(E) e9enr Qsfluieiieene : Sk

123. Let Xbe a random varlable with the followmg probablhty dlstnbut]on

X" =3 6 9

PO T L1

| - - 6 % 5
then the value of E(X?) is ' 2
@ =2 i
(© 93 _ e | i e ap ?23

(E) Answer not known : : :
&Qyp OGsr@ssiu_Herer X eremp g(h swemily wrdluler Hepsse ureuisE
E (X?) -en iy : T . : e T

SR e SR e
S e
2.3
11 el
A) = (B) 11
e | e 93
(C) 93 : _ E

(B  e9er Gg,lﬂmaﬁlsuemsu

124. If E(Y/x) is the cond1t10na1 expectatmn of Y given X=x, the E (XY ) interms of
conditional expectation can be expressed as

@ EQV=EMEYR)  ®) EEVEWEY/
© EQXY)=XE(¥[x) = \g;rE(XY) E[XE(Y/x)] -
- (E) Answer not known _
E(Y/x)arenug X -eows &rrrr;r)g, Y- uﬁlaﬂ @u,r_r;gsmm Tl LMLy .%g,sorrsu élggem E(XY) -@niLl
Bupgean erliunmiy eumasudld GHudheusreg X = x .
&) EXY)=EX)E(Y[x) - - & E(XY)nE_(Y)E(Y/x)
© EXV=XE{¥/x) = (D) E(XY)=E[XE®/x)]
(E) eflen Qs flwafevaney - bl :

- CSST/2022 - ©e _ £



125.

If X be a continuous random variable with -proba_bility density function .

f (x)=ax, .5 DEEETE
=, : ]_S.'JCS 2
. =-ax+3a, .2£x£3

=0, . clsewhere

~ The value of a is : : _

o . W

(E) Answer not known

X Gré'rugg @g;na_fr sweumiitiy ol erafle @g;e’n‘_r (lﬂ&s@ga;aq SILTEH Fmiy

126.

 f()=ax,  Os<xs<l

=l 1<x<2
=—ax+3a, 2<x<3

L - wpp @ hisefld erefled |
@ e i = s _
@& o Rl . @By 0.25

el ®) 1

B oo Gpflueddma

If X is a random variable with mean u and variance o2, then for any positive
number we have P{X-p| >K':y}<KL is | |
(A Blenayme Chebychevs inequality %hebychev 8 1nequahty

' ('C) Khintchine’s inequality _ (D) Lyapunov’ s inequality -

: (E) Answer‘ not known 1

X GTEm &LoaJrruJul_; mwgﬁ]uﬁlaﬂ &l;rrr&rﬂ ,u mrrguurr@ o Grsnﬂa) qr@g,@jm G;r;nﬂsm_ Grsmmneﬂu_l

. K-aﬁ]p@ P{|X ,u| >K0'}<——— TEmLIg) ~—~—-.—-%@Lbﬁ:' '

A) eou Cg‘l’_f')LIS] Qe QaGladlulle &maﬂeﬁ’l - (B) Qx9efulen &LDGDﬂGkS]
©) aamﬂmmﬂasx Cileata (D) Swrtiyenmas swerlel
E) aﬁlmu.@g;rﬂusﬁlmwm - . '

63 P E o CSST/2022
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exceeds the number of tails?

@

©)
- ®

6 ‘r_r;rrsamu(e_f,mg aﬁaﬁr@m @urr@g,j L, aﬁl@susmg, asrrL_Lq_guu:. SO0 Fls mmmswﬂasmasuﬁ]ev'

64

11

64

15

A'nswer not knoivn :

aﬁl@@ugmasrrm ;61.5;1(.9'5&;996&661 SHITEHTS.

(B)

127. Six unbiased coins are tossed.” What is the probablhty that the number of heads

15

32

\(11

15

. 11
o 2
5 _ ® 5 |
(E) - efleni_ @g{iﬂu@ﬁ]ebmen

128 - From a bag contammg 10 black and 20 Wh1te balls a ball 1s drawn at random Find
v the probability that it is black. .

G

5 :
o« L --(B>
2 A :
(C_)_ § : (D) 1
(E) Answer not known

- 10 sguy whmd 20 @@Jmsﬁ)m Libgiser Qg e 26 aqn_sm_uﬁlsu @@ﬁ@] @@ LIBS) G)JITIJ.JI_ILJ
'(y)snmuﬁlsu m@aa&uu@a%lg)@ Gr@asasuul_l__ ugsg,j a;gnuurras @@uugma;rr@‘r ,rﬂas@g,asmﬁlmemas :

. ; SSH'GMT&S
s 1
@ = ®
- ’ .
— D) 1
© = ®)
(B)

eflenL GgMwellcvenay
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129. The rélation'ship be1:_v'\r.een.4th central fnoment and cummulants
o L K,I _ : il
ek
- y Hy =K,y “"SKf
(D) -k oak
(E) Answ_er not known
pransag) ol B ué-'ﬁm@%@m G HEGLD &&@T'Q,&)Wéﬁu o
D m=K " - |
® wmeK
© 'p4=K4+_3K§'.
(D)_ _ }-14 %K4"—3K2_2'

B) o Osflueidmm

130. The conditional probability of B given A is

" P(AuB) - e ALY
imeme L G e
W Bachy e an ..(D')" P(AnB)

Py = P(B)

@ Answer not known |

Hlapss A ELE@QQLFQG'N sigliteLie Blspsd B -er Blubsaar (r_f,lésggg,asm aramUIg|

o PALE P(AUB)
LA s e
@ PUnB r e ™ PIACE
P(A) = P(B)
.. (E) elenL OpRwedcrenas
D 2 o e e _ ~ CSST/2022

[Turn over



i3l A problem in Statistics is given to three students A,Band C whose chance of solvmg

it are % % and i respectlvely The chance that the problem w111 be solved is

- o (B)_. 55 - .
e e - : -632. S o

- (E)  Answer not known

3

| oo

Yerafludwied um_ 86 e sasoms Siiude A, B wimib C ssrar eumiiti panpGu 5

LDDHMILD = e DABG s E SiSaLILHaSHETET eumiLLITeng)

B | . L
. A) - o (B) 32
G- e iy B

o (B MeL Asfwedaame :

132. If A, Ay, Ay, A, are said to be mutually independent, then the total number of

conchtlons to satlsfy the mutual mdependence is

)

(E) Anewer. not knewn _

| A, Ay, Ay, - A, eraLg) @m@]&@&smﬂg &rrrru;pm ,rfﬂasgg&#l&m srcnﬂsn @g} ;_F;Tsurrggl @&mu_luur_
i Ceuastig wi G]Lnrrg‘e_r, ﬁumgmm&mﬂm Grmemﬂa;sma; Grsurug,j X :

e
B

B (®) 21
D). 2-1-n

E) ofen Gg,rﬂ.u_iaﬁlé.)mm :

CSST/2022 | e ek . o



133 The F-statistic is defmed usmg two mdependent e variates:

W Ch square

Binomial
©€) Stan‘dard norh_lal
| (D) Poisson .
(B Answer not knowh
- Qbs @\ &rrrrumg) LDITﬂS]&SGiﬂGGT @,psom F-&QI LIGRTLIGTEnE eumuugjasaauu@é;lgjgj
A DECUTES : -
®B) ,W@@Juu mrrﬂ
(C)_ g;:;rmrrem@u_usuﬁmeo mrr;ﬁl
D)  umisne wd

®) oo Qsfueioreae

134. _The'c_hara.cterilstic functior_l_ of :chi. square dist.ri._bu’.cion.is
& daar |
| (B) _ (1+2ir)“f2-.
N (-2 iny 2
Sy e
.(E) .._An's_wer _nbt knbwn :
S e e ADHS L St
@ a-2ipn
®  A+2i"” _
@ a1
@) a-z”
(B)  ofeor Qg,fﬂu_:aﬁla'asbéu .

R e _ 67 - . : i CSSTI2022_'
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135 The value of statistic ¢ to test a hypothetical value 20 of populatlon mean from a
sample of size 10 havmg its mean = 18 5 and variance = 1. 21 is

A ~a71 -
@B  -lL16
©. 30

P 431

(E) = Answer not known .'

@@mw Qsr@dluden ggnefl 20 erafled ggaﬁﬂairr 10 sapsailer ggpref - 18.5 WHMILD
orpur® = 1.21 @b, ins a@mn@ﬂaaeuul_g (PpenLd G]g;rr@ﬁsmu_i t Gerpenenuller
m@@uq Loé]uurremg,j :

@AY am

® . ~11.16
Ky 3
D) ~4.31

(E)- siS]sﬁ)z_Qg,rﬂ_u_l@ﬂehmso =

136. The range of normal distribution is :

(@A) Oton
(B Oto @
(C) -1lto+l

. y .—oo-to + o0

(E) Answer not know_h,;

@msﬁﬁlanev LiFeuedl e GTEDENE LI TEITE]
(A) O @g,e'i;,n QUGN
B) 0wsd © ey
R
B s e s
W e Gl
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g7 The distribution possessing the memoryless prope'rty 18 .

138.

(A)  Uniform

(B) Poisson
\_V Exponential
(D')" Normal _
(E)_ Answer not known.

' ‘ﬁa)sﬁréﬁldﬂs&m Q&TeTens L. enL_LLI LITeue)

(A  SyrerLreid
(B) '_ L i ua‘eﬁé
(©€) <9|®$@§Q§,ULff-u Teued
D) @wéﬂﬁlmwﬁ LITeued
(E) S @g,rﬁuaﬁlsbcmeu_

The mean deviation about mean of normal distribution is

@ o
® o

o i

(E) Answer not known

(15 @u_léolrf;]éﬁmu ul_;_ra_leﬁleh g synefluiL_gg symned G:Slméaasq.b.. =

@ o
® o

(E) :ﬂmL-GgﬁMQﬂémm

69

CSST/2022
[Turn over



139. The moment'generating function of the Poisson distribution is

- W e}t(e‘-n
® e
© Suh
| (D) e%fgt;lf -

: (E‘). Answer not kn'owx.;._ '

: J_J_rru'_férrs'm uu@_téﬂrairr ﬁ@u qgﬁmmsﬁr g&@@.rrré;@_fﬁ &L
@ D | | |
@B i
(©) RTECS
i

(B e Gsfucidma

_1.40.__ If X and Y are correlated varlables each havmg Poisson. dlstrlbutlon Then X+Y
cannot be : : : :

(A)  Binomial Varxate :

\@’ Poisson varlate

(C) Normal variate
(D) Hypergeometric Vai'iafe'
: (E). Aﬁswer not known -
Xuapg_pju:) Y Gr@rrm @\ gasr(p) @L@g)eu mrrpfﬂ&mﬂsu LIMLIGUITET LIFaUane G&nmq@esﬁgg X+Y
- eranp ol SDSEHTL GTHIGUTE B)(HéSNS|? -
@ mopiy o
- (B) urfu‘.rémrrs‘crr wml
© @uéfewuvr
D) SQumsewrl
(E) oo OsMweldene

cove 0 g o n



141.

142,

Forty percent of busmese travellers carry a laptop In a sample of 15 busmess
~ travellers, what is the probablhty that exactiy three will have a laptop’7 :

(A)  0.0132
(B) 0.0231
©  0.0972

(E) Answer not known

; oLy ‘rﬂL&gg,mrrés umémTLb QaiCGeurfléd 40 s56ldlsp WremeaurseT Lolqéaaéasnﬂenﬂ o L ar ar(hSsl

QedLeuiseT. oifle @@@gﬁ gaprs 15 uweflgamer aHEST, . apem) g_ﬁurr SLLTWIHDTS
olg S& et el smeug,,a%]@uueurra;srr Grarrug,g)a;rrsm ﬁasuapg,asaﬂlsmem FoLS.

(A)  0.0132
(B) 0.0231
() 0.0972
D) 0.0634

(B Ao Gpfudidon

Find the value of ‘D fof'.a binomial' rapdom. varia‘iﬂe X, if n=6 and lf
- o = iy
S B p=—
&7 r-r o
| 3 RO
© »p : @) p :

(E) Answer not known -

FEMIHLIL UFeueiled 72 6 gl 6 Graﬂ@p -Gt mﬁuﬂmeﬁr SIS,

9P(X=4=P(X=2)

e e
A L B) p=—
@ p 5 M p =
el : 3
C — D) p=<
| () o | (D) p. 5
) e Gsfueicene
At ATeer e | CSST/2022
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143. The maximum p0531b1e number of orthogonal contrasts among four: treatments 18

B6IT(S G&rrg,emam @un@i_asmﬂeu cygﬁ]esr_lt_& surrLuuqmm Cpir el aﬂr&,ﬁ]u_lrr&masmﬂem

A four
W three

) e

(D) one

(E) Answer not known
cianeléama

® prae

B e

©)  Gran®

D) gom _
B e fefidies

144. The information from an experlment stablhzes when error degrees of freedom is at

least

(A)

®)
&

P 12

- (©)

6

8

(E) Answer not k_nbwn
ﬁlsmg é;l'_Lq_GirrsmLD sl @mmﬁ,‘ggul'_.ab
S&E6uE Hlane bﬂm@é’ail@@aﬂm@
Q) 6 e
@ 8
© 10
@ 12 | _
C® e Osfluddme

CSST/2022
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145.

146.

Degrees of freedom is related to

(A - hypothesis under test

~ (B) number of observations in a set

V number of independent observations in a set

(D) number of dependent observations in a set

(E) Answer not known : '

cSEI;Lq_éjTG@LD &0 GG e 6o Csm_Myenwgl

Aa) Csmdlés B a@Gamer :

(B G, G(pelled 2 e GBGWTI_[_{)](I'I_-')§ i safier Grsmmﬂa;ma;

€) @mewele e drar sniupn sar_Plibs wEiLsafar crarmisms

D) e ewed o drer &rrrrqmraﬂ e;emTL@Eg dlUseflar mmmﬂassea;

(E) eﬁ!emr_ G]g,rﬂmaﬂeuemo _

Ina completely randomlzed design with V treatment and n experlmental umt the

error degrees of freedom i is

@ V-1 S v

- (Qfn-V-1 e n-41_

(E) Answer not known _
@@@Jg}m afen  eumLOILTSSILLL ﬁu_g,ﬁm V BLSSH @omme;@m n - Gergenar

e mliysEnh @i é]emgg SL1q STENLD S TG 63T crarenflGens

147.

By Vi s W Ven
Tomma s D) n-1
() efew G:E_Brﬂu_iaﬂsuemu i A

For which design the number of rows, number of columns and number of treatments

- should be equal

(4) CRD
(B) RBD

(@/ LSD

(D)  One way ANOVA

(E) = Answer not known |

GThs S omcmmut_(ﬂg)@ fHlrovseflen cravmantsans, ﬂmga;eﬂm mmmﬁ}e;ma; wmgﬂm ‘Ibi_g,g_’)]
@pemg)&m é{@ﬁ)Gﬂg@j}LD LD Greozrrmﬂaaemauﬁlsu BmEGID .

(A)  CRD (apapgib e aimitiunssiint L §L L)

(B) RBD (s airiiiiy s._05H L Cengemen si@wliL])
(C): LSD (gesden gy S 1d) : .

(D) ANOVA (@@ eufl oy urrl_@ u@uurru.leq)

(E)  &flenr G]g;rﬂu.laélsocm)

w0 ~ csSTi2022
' : : : [Turn over



- 148. Princ"ipl_e Qf inertia of lafge numbérs"states that

W Larger the size .of the sémpie,- more accurate the results .
(B) Smaller the size of the sample, more accurate the results
(C) Larger fhe size of the sample, less accurate the results
I(D)- Smaller the size of the sample less accurate the results

(E) - Answer not known

' afqg]a; craimsoflen wp'_f;g Hlana gg@'@m sﬁ@mg ‘
. A aaxgg <eieTey &g]arﬂas@m Quirpa (Plq-6yeir é@&; gjavaﬂmmrras @@5@m
(B) ahrcm Sla6 @Gmggu_;m Gurr@@ Q,mq,sqasm 2138 Glovedlwions @@eﬁ@'m
(C) &y Siare] &‘é,]asrﬂas@m Gurr@@ P0USET GODS SiDSLLTE QHEED
D) wmpseray @mmu-lm Guﬂ@gu (plq-6y&alr @'Gmﬁ)!ﬁﬁ @weﬂwwm Qs
(E) aﬁ]sml_ Gg,rﬂum‘jla)msu

149. A population is perfectly homogeneous 1n respect of a charactenstm What size of
“sample would you prefer‘? ; :

A a large sample
(B)  asmall sample
\V a single'iﬁem -
5 (D) 1o item :
(E)  Answer not known
) @p@emm@gprr@é,] @@ @gﬁlulﬁh_l_ Uemer &Lq.uusm_uﬁisu &rﬂturra; @g,g; uGqummg,rras '
- Bosdng. aps Sapevaneney frisar ngg@g,@ulﬁrrasm’P
@) '@@GU(DFEJ&@J
(B)' - 90 fpamy
. ©  Grgw &_@D_-u#
(D) Gr‘iﬁg_.;&(njuuqum @eosmv ;
® e Ggfluaioma

- CSST/2022 e e : 3_' . o



150. Sampling fraction -«% is negligible if it is.

o

B)

O

(E)

- aa LEI}.@TGWL-D % Greirrug. @@.GUWQI @@;’5,5#51) _uﬂ)ésgssﬁuﬂéﬁsesg gésas 2T |

A)

(B)

O

D)

@

<1%
<2%

<5% -

. £10%

- Answer not known -

<1%

| <2%

- <56%

<10%

efflenL @g,rﬂu__léﬁ]éuemo

151. The number of sampling units in each cluster should be

4)

different

Wet;ual'; i

(©
(D)

_minimum

maximum

: | (E) : : Answer not anWn"

 gaQaung Araié 2 érer wTHA SiEsaien sraimenfisens

@)

®

(©)

@)
B

 Gaumiiid

FLDLD

Smyotb .
Gu@'me __
eftewL_ Ggrﬂweﬁlebemsu“

75
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152. In clusters S-ampl.ihg the units are

(A) Overlapplng

W Non- overlappmg

(C) Homogeneous
(D) Non-Homogeneous

(E) Answer not known

g‘,]r;ehﬁg,é; V] @psmg)ufﬂan ammé@_am@ﬁ@m '
@ CGopuegerewe

B . Cujligss Garsesiser

© @5 L enaneve

D) @b ueﬁﬂumi@.su"

(E)  efer GlgrflLUQﬁlébmaJ

1'53. When a random sample 1s drav;rn from each stratum, it is known as -
(A) Slmple random samphng .
- (B) Probablllty sampling
(©) Purposxve samphng _
W Stratified random samplmg
'(E_) Answer not known |
@@err@ u@méuﬂ]aﬂ@‘rjagl.b 6'}_IrTU'_IL'J.L|<§S QP HEELD @un@g . eTemenl ey
DieEsiLGADg . | - sy e
& o mmmq_al@g@gg,sb
(B) ﬁasgnéw'_h@m@éé@-
©  Cpmssepdrar B Catay
D)  LE®s amiiy 2 OnBssd
- (B) .amm_@g;rﬂmﬂ-@m =i

tlgwe. - e . T



154. While

data from external files are impbrted to ‘minitab’, —————— are treated as

missing values. -

®)
©
(D)
(B)

 Qeuerfl

W*_andblank_ ;

* and .#_
blank and #
# and ?

Answer not known

(Eémf_aqa;srﬂaﬂ@;r_'ﬁgj Suriisener ‘minifab’—é;_'@ @[{)é@mgﬁ Qb Curg e

- gdlwar eflGULL wHULSTTES GlsmereriiLiBib.

Q) * wppib sred GLib
B *uoppo#
© srdd @Lbuwbpb#
D) #wpgd?
(E) .aﬁle&m@gﬁ!uaﬁl@mm'
- 155. SAS is stallrté\d,'there._.are . — main Win_do_Wé-open-
e . .
®) 3
©r
s

E) - Aﬁswér :m_)t known
| SAS BBt L i ————— b gerardsdr sl Qararar
: (A) 2 | '
® 3
© 4
® 5 |
® o Asfusiome

gge oL L0 CSSTEeR
: : B [Turn over



156. In SPSS, the test used for testlng the mgmﬁcance of the difference between three e
more groups, based on thelr average ranks '

(A) Kelmogerov-Slmlrnov Test
(B)  Levene’s Test *
©) Wald Test -

W Friedman Test

(E) Answer not known

SPSS 60, epedy cﬂ;ueuevgj SBDG Gmmul__l_ G (PSS EHES @GETE_GU_IUJHGDT efgHuinsn,
cweumiﬂem &r,rrr&rﬂ g,geuﬂem&eamm auq_uuem_u_lrrasas Qesrrem‘r@ iy ammrr_r;gegrr GTur G&rrg,smafr

AT, ggeqm (Eerr.g,smaar e
(A) (Ba;r_reu(gmrr Ga;rr@r;r_rreﬁ - fAirare Cangane
e Al @so@eu@amuﬁ]am (B&rrg,mm | |
- Aes Gaud® Comsanps
(D) . oo_rﬁl@-mUQGLDsm Gengeem
(E)  ofewr @grﬂméﬁlebmeu

_' 157. - The extension giye'n to SPSS data file is

&) SPSS
L W e
D) pdf

| (E) Ans_Wer. not known

SPSS -6 siyey Ga;rruqas@ gy g;a;ruu@sugﬂ u.urr@g,anﬂcu '

(A) SPSS
(B) doc
(©) sav
D) pdf

(E) oo Osfuaideme

CSST/2022 Ly o m FR g



158. The statistical function used to calculate the arithmetic mean of the given data in

MS Excel

A4 - AM()
(B) - MEAN()
(©) ARITHM()

P AVERAGE()

- ®

Answer not known

- MS a6Qseld, gl (Pésrrefen s sasdl 2 sa|b Lerafluflued smiy

)
®
©)
D)
®

AM()

MEAN()
ARITHM()
AVERAGE()
eflenL G Mweldene

159. Short cut key is used for selecting entire text in MS Excel -

MCtrHA

B) Ctrl+B

(C) Ctrl+S.

(D) Ctrl+]1

(E) _Answer not known
MS Excel @6 @ eemouun Gsipdsdss epnée Qi@ oos
LweGEsILGEDS.

(A) Ctrl+A

(B) Ctrl+B

(C) Ctrl+S

(D) Ctrl+]1

E) e Opflweldame

79 : CSST/2022
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| _160. ‘Excel is a program that 1s used to prepare a

A

Slide presentation

: W ‘Spread sheet

©
(D)
®

Text do’cu_ment

Database

Answer not known

ariQlae GTEILIZ) ﬁl'_l_l.b; SjaihHenm uu_lsiﬂl_r'@({r,ré,] ggﬁ_lrrr’r @&U'JGLIQJ

@
®)
©
Y
®)

sereil Quiprii s
u;rmébg;rrdj_ -
2 aniy Gamiiy
576 '.guq_.mrrsmb.

ellenL_ G]g,lﬂmaﬁ]si)eoaeu

161. To view a cell comment

f
- ®
(D)
- (®

click the edit Iconimen’t conimand on the insert menu
click the display command

position the mouse pointer over the cell

- click the comment command on the view menu

Answer not known

LI HHSDSL LITTES

@
®)
©

RN
(EB)

~ CSST/2022

 Geme Qingefler o girar WwrHD as@;_'s@ SLL apanenis dlefls Gelwand .
 gnery, Quaiedld STU8 smés s Lamaew doflé Qeluann -

: gmg)uﬁlein Cuody. e qs%rmﬂqmu__l WAUSHALD

&8 Qibgniadled S(HoE sL L @erenws Hefls Qeiweyb

- aflenL Qgrﬂ_ﬁ_;.aﬁleijsma). .
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162. In measurmg seasonal Varlatlons the (L R) Link Relative method formula is given
by = : _ - :

@A Link relative = Current Month Value —'Previou_s Month Value -

Current Month Value - :

(B Link relative = —
.( ) e Previous Month Value

Curr_ent Month Value +Previous Month Value
- -

M Lin velative - Current Month Value D 0

Previous Month Value

(©) Link relatlve =.

_ E) . Answer not known

B enewt s penmuied, u@a.aa;rreu mngyurr@a;msrr cﬂ\:ma‘:’ﬂ@ m@ur@ aqg;aﬂ eumiLim{ Gr@c‘rug,j ;
(A) @Gmem &rrmﬁ BLLIY TS u:@]uu (_Lpgemg,tu LDIT§ mﬁuq
BLLIL| o5 WAL
pHers Long Ly |
BLLIL g WL 4 aphepsi g LS

(B) Qe emml =

© Qe rinS -

: 2
: ' LUIL] 1br& &L :
(D) _@Gﬁ;mﬂmr‘rlﬁ el e e x100 .
s : qjogzemgm Ltn'r,e;:J Lnéluq -
(E) eﬁlam_ @g,ﬁluaﬁ]snmeu :
163.. _No S_tafisfical téc'hnid-u‘es for measuring or isolating = e is available.

(A)  Cyelical variation

(B) Seasonal varlatlon

W Erratic fluctuations

(D)  Secular trend _
(E) Answer not known
- seraifasiE Sdws seowiLOHusHE Laeltue uss agen
Beévene. : ok : '
L (A) | &'Qé) mn@ﬁrr@a;@i‘r

(B) u@m&;rrso'wrrgjurr@a;m\

€) enuH Lnrrgjurr@aas‘rf _

®) Sem_sre GUIEE . B
 (B) e Qsflucidme e - -
. e L _ CSST/2022
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164. Least square method of flttlng a trend is

M Most exact

Least exact
(C). Full of subJectivit_y- =
' .(.D) Mathematiéally Iun__sdand :
: (E) Answer'_n_()f, known .

@'@D..EE.@S G“ﬁ%&' wpopuie Gurse walisamar Qun@gﬁmr@ SanL_L ug;
@) B 2mpas i

® Apespss

©) wuweagid urrl_ggf.]sm cuflwins

D)  Hpen @sbamasmﬂg@@

® eflenL Qgrﬂ@aﬁia}@@

165. The general dechne in sales of cotton clothes is attached to the component of the time

SBI‘IBS

M Seasonal variation

: Cychcal variation
- © : Irregular varlatlor;.
(D) 'Secul_ar trend
(E) Answer not known

Lim&S) L aﬂmucmmﬁsv Qurrg);eurrarr &Iﬂ@.{ Graﬁu@ ETOS Glgrn_ﬁsurﬂemaﬁm u@‘a‘,]uﬁ]su
8 GHGGeusTELD. '

(A). - LI(HEUSTE LDITQJI_IrT@.GSGrr

B)  siwif omyLTGEET

©) a@mﬁ)m oy

D) - P sraniGinks

® e Ophucdoos

- cssTi022 o A i



| 166. For addjﬁii}é mﬁdél,_ the sum of the seasonal indices 1s
4By '
©

. D)

'167-'

®)

@
®)
©
D)

- (®

100

1000
 Answer not known
S0 a%u_@mr@rﬂuﬁ]a) LiHeUGTVE @ﬁ)‘luﬁ@asaﬂm &L@g@g;rrma; G,Tsim_f@

;-aa@mm

e
100
1000

eflen Qg,rﬂ u_'m‘il'.si)._msu_.

In which méthod 'the'.prediction .can be done

Simple Average Method

W Method of Least Squares

®
(®)

Ratio to Moving Average

-Semi Aver.age Method

Answer not known

253 @mmuﬁsb _@eh&mﬁﬂ Ly Qi Wit u@ﬁg@

@)
®)
(O

(D)

sraflu &ymad @emgp

_.LS@FEﬂQI QUTES (LpED

‘Basqub efldlg aymadl @mg)

UGS &f;_rrr&:ﬂ Q.pa)g)

oen._ Qg fuieiicea

83
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168. The factors respbnsible for the occurrence of business cycles are
'(A)_ " Likes and dislikes of people .
(B)  Social customs

(C)  Scientific and technologlcal developments

W All the above

(E) Answer not known

S ewrumy spHé &eim.naig,rja;rrém asrrr;s&ﬂasmrréusw
(&) mésa’séﬂsiﬁ ALy @mm. P
(B) &@3055 uggasaarm&m |
©  sifleflud wHmib Glg,rrg@sugm_u @om@mm;pm&m
- D) . .Gmgpa;asm_ SIDTESID '

(E) eflen_ @g,iﬂu_laﬁlaumen o

169 Semi- average method of finding trend is apprOpr1ate 1f the data’ are avallable for a

\M Long perlod only

- (B) Short period only -
| (C) | Both Iong and short perlod
(D)  All the above P
(E) | Answer not kndwn -
LIS & &ﬁrr&fﬂ @mg)uﬂleb Cursdlenens smapLg), e yeref a&]laﬁqrm;d?r'&ei'rm@.urrg
e spEETED. | | '
() fersnobuwipo
®  conps sT@b 0L Qb
O Bon eips GODHS ST RS
D)  Gopsar. omassn

(E) : aﬁ]smLGg,rﬂueﬁTéomsu

CSST/2022 84 et



170. In PERT, the greatest time estimate is :

(A) Optnmstlc time

W Pessxmlstlc tlme ;

(C)  Most likely time
(D) Expected time

(E) Answer not known :

. SL HSH Lo_rj)gul.b L_I-iﬂgGD(:'D.GOT. apaons Hpafe, dmg, S Q_UJITEQ a;rrsu: SleTay GranLt
(A) . SNGEHLONE FTOLD I . |
(B) unsswren sTeLDd _
) G‘@Uéa'éaxqu_l STEdiD
D) ediunmiiiy smeb.

E) e Osfluaiiens

171. In the édntext of netﬁvork which of 'the following is not correct?
. (A) A network isa graphlcal representatlon | .
: (B) A project network cannot have multiple 1n1tlal and ﬁnél nodes
(C) Anarrow dlagram 18 essentlally a closed network
W An arrow representlng an act1v1ty may not have a length and shape

(E) Answer not kno_wn .

QuUEEWIENLOLIL| @Loale ‘Eg'pés‘sssﬁmt_mﬁﬁﬂéb aTg) &ﬂu@m?- :

(A)  cuemewenioliy sreb‘ruéj aumILIL SELOLIL |

B) ool amaumpliio Lo pbu wHmid Sms (n_%]&%paq @@é;é; Plg g
(O ubyEH eumILILLD PGl QUENEWIELDLILITE @@a@m :

(D) Qewiamad @3@35@:.9 S DLSEGH ;SGTLD LD[DQ]LD GUlg GULD @asrrsarnq_gr@j

(B) e Asflueddme . |

o L wees - ~_ CSST/2022
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172. Linear programming problem'doés not involve
(A) S.lack Variableé ' -
(B) 'Surpltis variables
(C)  Artificial varlables

W Random variables

_(E) Answer not known

@B Gg)n@&rrl_(ag, gC,]L‘L_ aaswra;éleu Q_GTGYTI_I'E.IGEI'I"&‘,.QJ
@)  uppreEo Lorrg‘)]asm

| (Bj BigSwurer mrrg‘ﬂasm '

__ | (©) Qewuperswimen :.brrgﬂése‘n
D) &ma;ﬁghuq e

| (E) e @g,rﬂu_aéﬁ_]éocmsv

173. ——-—-~— model which considers time as one of the iinpori:ant Variable's._
(A)  Static

(B)  Deterministic

(E) _Answer. not known
SIDIOUIL| TRTUG| STOSS eNEN 6p(1h (y)éaeﬁm g @&rrso_’a‘rl__g,rr@m.
W featie |
@ Btoseviorsr.
© ueLywe
D) Quéssaiwe

. (E) eflenL Qg flwciidrena

CSST/2022 = 5 oose



174 The OC curve of an acceptance samplmg plan shows the ablllty of the plan to

175.

* distinguish between

WGood and bad Iots

Type I and type II errors
(C) Chance va_rlat-lon

(D)  Assignable variation

- (E) Answer not known

- goms @asrrmm&amoru_l gLl §,h_|_§5§160 G]&u_levum_(a EUGHETEUENTT Gauguu@g,ﬁa a;rn_@aaaﬂm SHmewn

- Sl mengy

_(A) B mmgnw @&SI_L_. @@9 LSET |
.(B) ) (PS5 aJGma; LHOILD @IJ’GMTI_I'I'LD cuemaLy Genip
(C) el |_||_{ ormur® '
D) EPudgsss wrpuI®

E)  dorOsiudéns

To draw an operating bh‘éracteristic curve : -values are needed.
&) p and 40Q '
(B) p and ASN

W p and p,(7)

D) pand ATI

(E) Answer not known

e Gurigs Aptidusy aimeaGsn( em{r,m —-—_ i ser Gama.
@ p woppd 40Q = |
B p wpyd ASN

©  p wppid P, P)

@) p wpgs ATT

® e Asflusipoe

87 - ' - CSST/2022
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176. If x# and o are the process mean and standald deviation, then the control limits
1+3c are known as '

(A) Modified control limits ' matural coutfol limits
(C)  Specified control limits 2 - (D) Variables control limits
(E) Answer not known ' | '
@p@mp(ﬁu_! K opmid o ereuenel eyme  LHmb é!r__L_aﬁleuasesLD Grenﬂa) Ut 3o Gr@JLD
.GSL_@uurrl_(a G)_IFILDL.|6561T _ : ] :
A)  Smssiun L &5!_®uum_® QULDL|&ET (B) @u_lsuurrsnr 85l_®[_ILlITL..® surjmqaserr
(&3 QS]ULS]L_I_ aal_@\uum_@ augbLser (D) .Lorr,rﬁ]ssaﬂem (UL GULDL|SET
@ allen Qudiocitime = |

177. The upper control limit for n p chart is _
@) aPnFE . @) op-Supe
© nB-3npg N\ B 3DT
(E) Answer not known e
7D s GETLG st LSBT Ciod erdepa
) np+3npg (B) nF-3nBq
(©) wP-%mpe (D np+3npg

(E) el Gsfwefdvena

178. The P-chart is designed to control :

: W Proportion defectives

(B) Number of defects per unit
(C) Causes of variation
D) The Varlablhty of the quahty produced

- (E)  Answer not known
- areupenms sLOLLGHSS P '—_G}Jam;ru l_._Lb_&@GurTéESSI;I.II_II'_L..Q].
| @ @mmun@aaﬂ@ ell&lgLb o _ .
. (B)  geuiGeunm ie@-uflan @cmg)a';srﬂ& TR S
©)  wryur® sy
(D) 2 HLSHS SLD LDITQ]LII‘I’@&BG‘]T
E)  alore OsMueioane

CSST/2022 ' ' _ " 88 ' S n



H ch1 square 1s performed for testing goodness of fit to a data with 7 classes on
est1mat1ng 2 parameters and pooling the last 3 expected frequen01es then degrees of

freedom of test statlstlc 18 : :
_Mz‘ e = '(B) 3
o . O 6
(E) Answer not.knewn' |
msaids Ldaelued 7 Gfasdr Qe 9 u@bTu@:TGmeuaseﬁ)m m}gu@'e@, éssm_l_él 3
adliunisslu@w Hapdeamsmen aamCerss 19n@, issrelar Qebmn Haemn L s
Qs Cargenat BLSS LIRS DS aTale) DIF6 HL1g ML SaMEer
&2 @

g . o s

.' (B) e Qsflweldeme . |

180. The test statistic for difference between two pop'ulati_on proportion is

sz BB iNeD . @ z;gXlz;X?Q»vN(O,I)

Jﬁ.@(i+i] | el
: " H = m ng
& =t nuhy @ Lh8, B v

JPQ/n | - iy oty

(E) : Answer not known

@@aﬁlﬁ;_ﬁ FLOMISEREE Qe G 2 drer aflgd) u_t.rr&.e'_'r;g],r'p_asrrem yereflullwier GCergenamunargi

& = BB SN (B) z_——}g—n—Xz—2~N(0,l)
| ‘Q’[LJriJ - i
Th Ty My
p_P "‘N(O,l) : : ! (D) .z:‘lDIQl. s PZQZ ,.__,N(O, 1)

e =

(E) aflemi Qgﬁ}u_laﬁ]'ebsmw :
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181. To test, if a sample of x;(Z=1, 2,....25) ‘has been drawn from a normal population
. with a specified mean, we apply R |
(A)  Chi-square '
®B F
-
D) =

“(E)  Answer not known

26 "ﬁ‘@l x; (1—1 2 2D), @u_lmfﬁlmeu (P(PELD @g,rr@g‘;]uﬁ!éﬁ]@gg,j Gf@.ssasuut_l_grr GrenT
Gandlés, ;r;rru:. —_— G&rrg,mem vweru(hsgGeum.

A s aiss

® F
©
(D) . Z

(E) eﬂ._cml_ Qg,fﬂwéﬁlsbmsu

182 A large populatlon has a mean of 3. 25 cm and standard dev1at10n of 2.61 cm. A .
sample of 900 items has a mean of 3.40 ecm. Calculate the value of Z"

\9/173

_ 1.8
| (_C) 23
D) 2.5

(E)  Answer not known

90 Guow Osreduiar syrsi 3.25 Gs.8 wogd S dassh 2.61 (a8 wen. 900
araranilsamawerer smer sinafl 3.40 Qa8 erafléd Z-én wuy wg?

(A) 1.73
B 18
w23
o 25

(B) e asiuddoan

amsmes 0000 . W | - G



183.. For testing a Speciﬁed population variance we can use

V\f)' 72 -test

(B) t- test
(C) . F-test
(D)_ Z -test

(E) ~ Answer not known
R @;ﬁlu&f_n_ PpdDE @gn@ﬁu&]éﬂ_ wrgaun_gene Sidlu  uweatu@®b  Cergeaner
S R 2B, 5 - '
(&) 2 -Congean
(B) t-Cengever |
- (C) " F-Gsngsear
O Z-Corgeen
(B) deoL Gsflueiaome

184. If the sample size n is large, V2x* —+/2n -1 follows -

@  No?
B) N(O, 62)
© N1

P NOY
(E) Answer not known
g Siera) n-ér LI AHsOTS @@D!ﬁ]éﬂ y 2x2_ —A2n-1 -gemgg —— 8
Qerummid. - ' '
A) Ny o?) _

- (B) N(,c%
© N@D

(E) e Qsflweidoma

5 e | CSST/2022
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- 185. If B is the probability of type II erroﬁ*,'then_(l - /) is called - of the test.

(A)  size
W power
(C) region

(D) - level of Sigﬁiﬁcance

(E)  Answer not known

;’3’ GTGITLIZ) @Um‘ruru:- cuenSL ﬁl@mgpuﬁlram ﬁasu(.pg;a;eq GTGUﬂGU (1-7) -eowl G&rrg,msur

GTETS S DEITLD.

(8)  iorey
®  Spar
(O  usd

D) Apligsmen ol

(E) _aﬁ]'Ga)l_@g,rﬂu_laﬁ]éjamm

186. The alternatlve hypothesis for two ta11 test is

) Hyu=p

(E) . Answer not known

= @@@mm& G&rrggemwuﬁa) LT HD sr@@asrren 2

@) Hypzp
B Hy:psp

(© H, :..U<_,uo -
®)  Hyip=p

(E) &fen G]g,ﬁ]tuaﬂlsb'ma) _
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187 If B= probablhty of type II error. then ,6’ 1s called

WConsumer s rigk

Producer’s risk
©) Standard error
(D) Sampling error

(E) Answer not known .

Jid Grsinug,j-@ paTLTh Guena: IQGB?EQUEI]GST Hapsse] GTGDﬂGD Vil GTG'}J.G)JITQJ .aiemgpé;a;uu@eamgj.
(A) masTGeumilen @Lrum

(B) ag)ug,ﬁm merrifl et @Lnun@

(©) g‘;ll_l_lﬁ]smlc.p :

D)  #%ApHsse Gavy
(B o Asfucidme

- 188. Totest Hy:u=p,, when o is shown the test statistic is

" e X-u
X -p) 5 e (}_("*ﬂ)
& _J/w'n —1 ey izl s Jz/n

(E) . Answer not known

o Qg,rﬂ(r_r,'e_r, ﬁ]mmuﬂm HO u= ,uo Gremusmg; Gandlss @un@gyg,mnm C‘Sa:rrg,anam yereflufuied

SjemeiL_meg)
@) %{::JZQ i . ..-(B): (f/:/g)
o '(C) | % ek ; & (fz_/:)
- (® amemn_%fﬂ@“‘mé"““’@ . ..
fa - | o s _ | y CSST/2022
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- 189. In test of mgmfmance if ,8 is the probability of type II error, then (1-— ﬁ) 18 called

of the test.

A)

size

W power

©
.
- (®

degree of freedom
level of significance

Answer not known

. é]ﬂ)ul_pss GITEHT (E&rrg,smsmuﬁ]en ﬂ Gretrrugj @r,remi_rrm @JG&SEUIQG’G)IEQUEIGGT {r_f,]asgpg,a;a.; GI'EUﬂGD

(1 - B) ereimuig) 5Cangenemuden

2
(B)
©
D)
(E)

DieTey

Slpein

CUTWIMD LITENSSET

SpliLé srer L 1D

eflen Qg;rﬂuaﬁ]si)msu

190. Neymann-Pearson lemma provides the
~ simple alternative hypothesis.

(&)
(B)

- an unbiased test

likelihood ratio test

_minimax test

W' most powerful test

Answer not known

Tt ) &mg&&uu@cﬂmm@

of simple hybothe"sis agai_nst' a

@Gtrru_s a@CanensE eadyrs wIHM sr@@a;rrsrr Gargenanuied G‘r_r,marr i @g,gorpm

@A)
®)
©
)
®

CSST/2022

Gengenar aupnGEng.
Qpp&Hwuibp Garrrg,amm '

SLOmILemU FTiHS @91;9215& Genganer
. B&8Amy BLQuigpioner Cengena '

Bss Spen aimiins Cersmar
eflen. Qgflueiioener
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191.

For large Sam}'ile 95% confidence limit for # when o7 is known

_ % [x 1_.96—\[;,x+1.96—&] ®) [x —n.’H__'nJ-
' | g o : e e

192.

(E)  Answer not known

o Ouphsadlar o wdiures Gsflub Qurws Sis@eL L p.-aﬁl_rbasrrm'% sgedls

BLIEMS T ————— GETUSTGLD. -

W [z-1962 ¥ 1.9631] e (4—i,“- —J~]

o ( & i g

(©) (56—2.58%,E+2.58i] ®) [f—l.ﬁ5%,?+1.65%)

(BE) e Gsflueideme - =

‘The 95% confidence interval'for-population mean x# when the sample size is 100,

‘mean is 15 and variance 25
'68(14.02, 1598
® (12.02,13.98)

(©) . (13.02,12.98)

D) (11.02, 14.98)

(E)  Answer not known

100 erétip amaﬂc@@ Q_asrr@fum safflevan s Qanan® igen syred 15 wHmId wrpun@G
25 erefiled 95% (penos Qgrens synefl u -elparer BlsEms Gen._Cearf

(&) (1402, 1598) | '

B) (12.02, 13.98)

© (13.02,12.98)

D) (11.02, 14.98)

(E) ofenr Qgflwellevenes
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193. The 100(1- @)% confidence interval for the parameters @ of the normal disﬁrib‘ution
18 : ;

@ (Fr L X ‘TJ

B) '}?+za\/s_ )
\(_ X-t, -, ot

D) [Y-ta_%,fﬂ o

(E) Answer not knoWn

@mmﬁlemeo ureualiann & erenm &1 (HmiiGen 100 (1 a)% ;r;mnﬁ]as@ma; @m:_(;]amﬂu_lrrar@

@ [XﬂaT— X= ta—\/iJ

- CPE 8 -y
X+t, ——X-t,
(B) \I : _a'\-‘n—l n"ljl

(C) X =

T

- 82 '— 5
- hipnd f]

- (E)  eflenc Qg,rﬂ weSledaney

194. The correlation co-efficient between a most efficient estimator and any other

estimator with efﬁmency eis _
@ e T - '\@K_«E
o 2 | @) 2Ve

(E) Answer not knowh

80 Vsp dpemrar LALSLH Sm@abeb wHpb G ‘e’ FCs@b é‘wmm@% 20
wHLSLE Serevais@h @m—uﬁlm 2 6Tarm gL (Hpeld Qlapellen Apeanmans,

A) e _ S SR e

) e ' Ll 5l

(E) _aﬁlml_.G]g,rﬂuJaﬁlsmeev i '

CSST/2022 e e e = T N



_ 195. If 7'is an unbiased estimator for then E(T?) is
@) 6% -var(T?) | :
\V 0% +var (T)
(C) ~var(T)
@ P rvar(T?)
(E) Answer not known

T aém g 0-0956 9 Lglg)gscémm SHISE L e Babetin adprd E(T?) aéws
@ O -var(T?) | |
B) 6% +var(T)
© & —var(D)
D 6 +var(@?)
(E) oo Gsflueiaweme

196. Let xi,xz, ---x, be a random sample from-a uniform pbpulation on [0, 8]. The

sufficient estimator for @ is

) X
®  xq
& v
B i

(E) Answer not known

B, X, o srsn‘r;o gweumiitiig sapreng U[0, 6’] TG §|;rrraﬂ @@mmg, an@ﬁuﬁ]w @@f_ﬁg)j .
a(&EsLILGE DS & -6far GLrgome LD§|I_II5!_Lq_

(A) x_(n}.
@ =,
: (I(.)) X
® 7

(E) e Qgﬂueﬁ]eﬁ@mm

- B | o 97 . . CsSTZ022
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197. The difference between the expected value of an estlmator and the value of
_ corresponding parameter is called

A Mean
(B) Variance
(C) Standard Deviation

g Bias

(E)  Answer not known |

el iTLImiT &g edler mﬁuﬁlm@'m usnn‘rumemsuaaasrrsm Lngc;]uﬁ}ﬂ)@m 2_GITer GE];_I,lLJIT&LD

GTaTLILI(HILD.

(A) &r;rr&rﬂ

(5 mn@u ()

©) S essn
O)  Gpps

(E) ofenr Qg,rﬂ wiefledeney

198. 1If X, X,,--, X, is a random sample from a population N(0, o2) the sufficient

statistic for o is

1

@) Tz
@/ 3 x?

© Gz

@) x8

(E) Answer not known

X K - Xn. GTEHD FLOGUMIILIL Lﬂﬂ‘é:;].fﬂ ccwmeﬁﬁeuesm Qaram_ N (0, 0'2) TG @_@Gem‘é';
@g,rr@é]uﬁ]dﬂc? -an Gungiomrer LHUSE '

@ Ix
(B) - Ex’
© Ex)
D) =87

E) e Asflucddomn
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199.

200.

The efficiency of any unbiased estimator may élso be defined as the ratio of
The Cramer-Rao lower bound and the actual variance :

(B) ~ The unbiased estimator and actual variance

O * The sufficient estimator and actual variance

(D) The efficient estimator and actual variance

(E) Answer not known

EhS @@ L‘j}g)kgaélu_ig)g) mﬁulﬂ'n_tq_m@w g%lg;smrrsm mg]utﬁl_Lq_emm §Epasmn_ aﬁ]é}gggﬂm pped

< @ WIeMD?
(A)  Sgmwor- urrGiJ—s'uT 5Q @@meﬁ&@m. 2IF6 OIMYLITL L GTENeUSELD
: B)  GppFAwHD LHIG G DED, iFw mn@ur_n'_l_sﬁam;ué;@m -
(©)  Gurgorer mguﬁggrmgm, <B4F6D IOTILITL_L aTepaud@E1n
(D) | Apenmar LIS g HELD, g Lbrrgurri;i_msmeuéa@Lb
E) e sfluelaame . :

If 77 is an unbiased minimum variance estimate and 7, is any other unbiased.

estimate with variance o?/e then correlation between T} and T,
@A) e '
| (B) e2

WI

Answer not known

.T eTeLig ﬁ]pjgge'}élu_lrj)[o wpmid 1568m LyeumLIg LDQI;I.ISI._ILF@L-D T, ereiruig wHEDTEH.

. opeflupp LHLSH wHHID Sig@ienw  wrmurQ O'/e aafle T, wpmgd T,-65

Qev_Cuiwimen L (Hmey
HAY e
® ¢
0y e’

D) e
iy eflent_ Gg,lﬂmaﬁlei)eméu.
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" 10.
11.

IMPORTANT INSTRUCTIONS

You will be supplied with this question booklet 15 minutes prior to the commencement of the examination.
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all the questions are printed serially and ensure that there are no blank pages in the question booklet. If
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take the question booklet with you only after the examination is over.
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